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UGC NET PAPER 2 DECEMBER 05, 2021 SHIFT 2 LABOUR WELFARE AND INDUSTRIAL RELATIONS QUESTION PAPER

Topic:- LabourWelfare SHAAN_NOVZ1A

1) Explaining a relationship between satisfaction and performance, which of the following implicitly assumes that
"satisfaction leads to improved performance and dissatisfaction detracts from performance"?

Fiqfte 3iiz fruger @ dia o sida & e o ge wcifafiaa di 31 foad e siaflfga A g fio “Hqftc soer forourcor &I aiiz o wIrdl 2
31z aiqite forurge 4 sraetfer &I 30z o anedl 8"

[Question ID = 1549][Question Description = $2_qSNz_PG_LBW_0Q01]
Attribution theery of metivation/sinzw o edieem Bign [Option 1D = 6196]
Content theories of motivation /iR mr oie @1 Brgrr [Option 1D = 6193]
VYroom's Expectancy theory/qs @ waatrrdéelt wr fgia [Option ID = 6194]

Adam's Equity theory/esa wr st @1 Bigier [Option D = 6195]

e kad R

Correct Answer :-
e Content theories of motivation/adémpor an ot o fagrr [Option ID = 6193]

2) The belief that 'conflict is not only a positive force in a group but that it is absolutely necessary for a group to perform
effectively’ is associated with which of the following?

g Al 75 "wad el ags A o1 Daw o weRraT g 3 aitw as Ty @ qurdl Breaee © R sfrawt smaeawer ¥ -
fosara Heftm 8 7
[Question ID = 1550][Question Description = $2_qSNz_PG_LBW_Q02]

Unitarist view/weicae fizaon [Option ID = 6197]

Traditional view/cazee eftemerr [Qption D = 6198]

Interactionist view/ s Ziacd etewion [Option 1D = 6199]

Human Relations view /e Fi-: 31 =1 #tepior [Option 1D = 6200]

oW =

Correct Answer :-
e Unitarist view/wmrrs wiceeo [Option 1D = 6197]

3) OCTAPACE is an acronym developed by Udai Pareek which identifies eight important values relevant to an organisation’s
culture. Which one of the following gives the correct expansion of the term OCTAPACE?

sifaeride uw uf¥avil ors & f5r) 3oa wifye o faefia e 3z sl Rl detoar &t Avmia @ oo s wd Ascayyt #cdl S usarm o 2
forrafaifian 3 21 @ia aifaew ores &I AE = o 2 7

[Question ID = 1551][Question Description = $2_qSNz_PG_LBW_Q03]

1. Openness, Cooperation, Trust, Authenticity, Proaction, Autonomy, Collaboration, Experimentation/qrme, ssee, Fros, wpoftre, q-wiema (oo},
R, HEHlEn, ggwmnisar [Option |D = 6201]

2. Openness, Confrontation, Trust, Authenticity, Proaction, Autonomy, Collaboration, Experimentation/ menre, g fGears, gaiiesar, -weem,
TR, HEHlEm, ggwmniaar [Option 1D = 6202]

3. Openness, Confrontation, Trust, Autonomy, Proaction, Avoidance, Cooperation, Experimentation /e, @weom fram, saerd, |-vaee, ulasH,
sigEer, yEered [Option 1D = 6203]

4. Openness, Coceration, Truthful, Authenticity, Proaction, Authority, Collaboration, Experimentation/=[ous, Feli=1, &=, QIURG, Q-9ggRl, YRR,
TEsninm, s=iEnm [Option ID = 6204]

Correct Answer ;-
e Openness, Cooperation, Trust, Authenticity, Proaction, Autonomy, Collaboration, Experimentation/ e, wesir, Rpars, wpilirsm, q-wrem (mrort),
Farr, A, ywiermear [Option 1D = 6201]

4) Consideration and Initiating Structure as the dimensions of leadership were identified by which of the following?

Tormifertiae 3f 21 fopaas ZIar olged @5 AR o5 a0 3 faarelier aen gl Fizaen @i usar ol o8 & 7

[Question ID = 1552][Question Description = $2_qSNz_PG_LBW_Q04]
1. The lowa leadership studies/zimr w1 diceg Jsidfl sz [Option 1D = $205]

2. Michigan leadership studies/@doem o1 orgra et sizryar [Option ID = 6206]

3. The Ohio State leadership studies/ iRl 2w & sigeg Jaeh aremrs [Option 1D = 6207
4. The Harvard leadership studies/zd= @1 sigea sl sz [Option 1D = 6208]
Correct Answer :-

# The lowa leadership studies/aar @1 afgra 2i=:dt siererer [Option 1D = 6205]

5) Who developed the Warwick Model of HRM?
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[Question ID = 1553][Question Description = 52_qSNz_PG_LBW_Q05]
David Guest/3fm sz [Option ID = 6209]

Hendry and Pettigrew/a=d sfiz after [Option 1D = 6210]

Dave Ulrich/2a satsr [Option 1D = 6211]

Harvard/zmts [Option D = 6212]

R

Correct Answer :-
a David Guest/3f= 3z [Option ID = 6209]

6) Which one of the following is related to on-the-job training?

forgateilian A 31 wia orilensia (3l - § - sita) gfdigr 21 w42 & ?

[Question ID = 1554][Question Description = $2_qSNz_PG_LBW_Q06]
Committee assignments/FfhET smdes (sRmssicz) [Option 1D = 6213]

Special classes/fdw wamd [Option 1D = 6214]

Case study/amer o aeerm ( B8 w=21) [Option 1D = 6215]

Role playing/if#rmt Bemen (3 wiger) [Option D = 6216]

R

Correct Answer :-
¢ Committee assignments/AMHET smes (Femsdc) [Option ID = 6213]

7) The process of estimating the quantity and quality of people required to meet future needs of the organisation is called:
FHoloel Dt AP ATA9ADAIAL DY Yr Dol @ fére AURRT sl Dt e ud JuIaRT @ aribelol &t Qiagan waordl 2 : -

[Question ID = 1555][Question Description = $2_qSNz_PG_LBW_Q07]
hManagerial Judgement/grtebE ok [Option D = 6217
Human Resource audit/xmm = oo [Option 1D = 6218]

Supply forcasting/ smofefasr s [Option D = 6219]
Demand forcasting/wist @1 st [Option 1D = 6220]

o

Correct Answer :-
& Managerial Judgement/gderb Bk [Option (D = 6217

8) Job analysis is the procedure for:
w1l Ryedeor Ry forfdra offyan § ;-

[Question ID = 1556][Question Description = 52_qSNz_PG_LBW_QO08]

1. Describing about the remuneration/afssfErr o avfer gaa [Option D = 6221]
2. Determining the duties and skill requirements/=ifBrd itz THorT st o Budwr w3 [Option D = 6222]

3. Fixing the responsibility /srmeiRr w1 i amar [Option 1D = 6223)
4, Allotment the duties/siRrd @t amca o [Option 1D = 6224]

Correct Answer :-

@ Describing about the remuneration/afrsfdes s avia sa [Option 1D = 6221]

9) What should be the maximum number of representatives in the Joint Management Council?

Hep Yeitiol by # gieioiisal bt aftrnas Fean w1 siepe = gl ailae ?

[Question ID = 1557][Question Description = $2_qSNz_PG_LBW_Q09]
Six only/@@a = [Option D = 6225]

Twelve only/osawr awe [Option |D = 6226]

Sixteen only/wwe dims [Option ID = 6227]

Twenty only/ae & [Option 1D = 6228]

o R

Correct Answer :-
® Six only/@aa =: [Option D = 6225]

10) Under which section of the Industrial Disputes Act, 1947, both the Central and State Government have the power to
constitute a Court of Inquiry?

Jenfre faar aftforma, 1947 & fivw ema1 @ afoeia dig aur 715w Sl 8l TRl & A Afa RIRIERI @ 31d0l ®f AR 8 7

[Question ID = 1558][Question Description = $2_qSNz_PG_LBW_Q10]

Section &/amr 6 [Option ID = 6229]
Section 10/zm 10 [Option 1D = 6230]

Section 7/emr 7 [Option 1D = 6231]

Section 3/=mr 5 [Option 1D = 6232]

L kad R

Correct Answer ;-
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11) Which country is called 'Home of Collective Bargaining?

"aRe Higash o a” Bea S o avsr soarn 3 7
[Question ID = 1559][Question Description = 52_qSNz_PG_LBW_Q11]

1. Japan/famre [Option 1D = 6233]

2. Great Britain/3g Bea [Option ID = §234]

3. United States of America/Z=s amg awiizer [Option ID = 6§235]
4. Canada/@er=t [Option ID = 6236]

Correct Answer :-

e Japan/smmr [Option ID = 6233]

12) An unauthorized strike that is called for without the approval of the union, is commonly known as

Tferaar @ Aagicor @ o smen Roar srn sder ssorer o Araea: Boa o 3 sren sen 3 7

[Question ID = 1560][Question Description = 52_qSNz_PG_LBW_Q12]
Bandh/=g [Option 1D = 6237]

. Quickie strike /bt per [Option 1D = 6238]

Wild-cat strike/q=es £ =E® [Option ID = 6239]

. Sit-down strike/fie- 330 = [Option ID = 6240]

R

Carrect Answer ;-

& Bandh/dg [Option ID = 6237)

13) Excluding provisions of Section 22 of the Payment of Bonus Act, 1965, what is the maximum time limit, within which
the bonus should be paid by the employer with sufficient reasons?

alord g siftferma, 1965 ol enar 22 w1 siswe Roa ar1 & sioela sifras Row waa-Hier @ sinsia el g gala ol 5 mmer
dIoiA @1 YJPIAlo] el alfay ?

[Question ID = 1561][Question Description = $2_qSNz_PG_LBW_Q13]

1. One year/ww ad [Option 1D = 6241]

2. Two years/st od [Option 1D = 6242]

3. Three years/dim ad [Option ID = £243]
4. Five years/uia o [Option 1D = 6244]

Correct Answer ;-
o One year/ww mf [Option ID = 6241]

14) Which one of the following Articles of Fundamental Rights includes Equality of Opportunities for all citizens in matters
relating to employment or appointment to any office under the state?

sitern Aitrer! & foeifaiiaa oA ot A oo 3 A o siaeida foil orsar 3 areran ot omifo 3 forgits A FdRea sl 3 i
stEIfyest @ aras O wyemorar eifirer 3 7

[Question ID = 1562][Question Description = $2_qSNz_PG_LBW_Q14]

1. Article 16 (1)/3m@rEse 16 (1) [Option ID = 6245]
2. Article 17 (1)/amis 17 (1) [Option 1D = 6246]
3. Article 19 (1)/amgesa 19 (1) [Option 1D = 6247]
4. Article 18/ 35 18 [Option |D = 6248]
Correct Answer :-
e Article 16 (1)/ameis 16 (1) [Option ID = 6245]
15) Which one of the following authorities has the power to prescribe the certificate of fitness to workers in a factory
under the provisions of the Factories Act, 19487

forgmterfian qifroiis=l # 31 fKoad ura sraen afifer, 1948 & Iuded @ siveia orEe d EiRl ®l boda yam-uq fafter oea &t
orfes 8 7

[Question ID = 1563][Question Description = $2_qSNz_PG_LBW_Q15]

1. The Certifying Surgeon/gmrrd m=te [Option 1D = 6249]

2. The Owner or Occupier of the Factory/ = w1 Fanil aremr s [Option 1D = 6250]
3. The Chief Inspector /= ferdiara [Option ID = 6251]

4. The State Government /= I3 [Option 1D = 6252]
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® The Certifying Surgeon/vwammesit wfa [Option 1D = 6249]

16) When an employer asks employees to sign a type of loyalty oath stating that "the employee would neither join nor
participate in the activities of a union” is known as:

s1g foriiror aekn® & v goor © fBreoT oray O U RIS @ o wear 3 Braas s sitaera 8 5 “wdad gferra & st i o o
onfdeT Z1em 3fiz of £ yeI TP, SeanT & -

[Question ID = 1564][Question Description = $2_qSNz_PG_LBW_Q16]
The Conspiracy Doctrine/a==ig o1 Ragha [Option |D = 6253]

The Yellow-Dog Contract /Aeh-3r zm=iar [Option ID = 6254]

Unfair Labour Practices/ amjiert gt =gaar [Option 1D = 6255]

Collective Bargaining Agreement/sa® Aldumsit pmiar [Option |D = 6256]

oW R

Correct Answer :-

# The Conspiracy Doctrine fus=ir] 1 Bigir [Option D = 6253]

17) Under the provisions of the Building and Other Construction Workers' (Regulation of Employment and Conditions of
Service) Act 1996, at least how many days before the commencement of the building work is an employer required to

send a written notice regarding the construction of building?

Wdol Wd e Hicraivl e (Asen: ol falsrpiel ud 3rar-ord) attiforrar, 1996 & yrarsl @ sicela faoht forlwnt 21 sae forain orl &
3PN B A wa-A-wn Brast Rl gd siaar @ forafor 31 dedftsr oo Biffaa snfew fiset f srdgn a8 3 -

[Question ID = 1565][Question Description = 52_qSNz_PG_LBW_Q17]
1. Ninety days/90 f&sii [Option ID = 6257]

2. Sixty days/60 =i [Option D = 6258]

3. Thirty days/30 &&= [Option D = 6259]

4, Two months/st &z [Option 1D = £260]

Correct Answer :-
& Ninety days/90 f&aii [Option ID = 6257]

18) "Labour is not a commodity” is the assertion made in which of the following?

"o v Al oifl B Braftfoa & A f5a # gern e orx 37
[Question ID = 1566][Question Description = $2_qSNz_PG_LBW_Q18]

The Magna Carta/Fsearmre [Option ID = 6261]
The Philadelphia Declaration of ILQ/ a8 o 3 @ isaeiew=y gavn [Option 1D = 6262 ]

The Constitution of India/ s @ sifema [Option 1D = 6263]

The Universal Declaration of Human Rights/rernfraesi 31 sHEiim awdaifing doon [Option 1D = 6264]

oW =

Correct Answer :-
® The Magna Carta/dwarmet [Option 1D = 6261]

19) If any question arises as to the application or interpretation of standing orders certified under the provisions of the
Industrial Employment (Standing Orders) Act, 1946, either the employer or workmen can refer the same to which one of

the following authorities?

FenBre forltee (Femeit sncor) sftiform, 1946 & grawnei & siaela Yenior Ferf aneoll & seruEia sizran faden &q afe @1 gea soar 8
I fornn1 Jgrar R 33 BraiiiBan A A fa gt s g aamm § 7

[Question ID = 1567][Question Description = 52_qSNz_PG_LBW_Q19]
Appropriate government/ 3R F=me [Option ID = 6265]

Industrial tribunal/ d=ikEre s [Option 1D = 6266]

Labour court/gm s=mmer [Option 1D = 6267]

Civil court /mrmr =memer [Option 1D = 6268)

bl D

Correct Answer :-
e Appropriate government/ e sz [Option 1D = 6265]

20) Who viewed "trade unions as a means of representing the interests of workers through the strategies of mutual
insurance, collective bargaining, and legal enactments"?

szt frae 3 1y "gfires g arvafxe @, Ao Aidantyar s Rerh afiBems & oifaed © meas J owendd @ Bal o gfefeiiira oo
HIEGI & 7

[Question ID = 1568][Question Description = $2_qSNz_PG_LBW_Q20]
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John R. Commons/Siie . st [Option 1D = 6269] Your Personal Exams Guide
Sidney and Beatrice Webb/f=sh Hit difw a7 [Option ID = 6270]

Meil W. Chamberlain/slic ==cg dvasctat [Option 1D = 6271]

Karl Marx/ @t 7ot [Option 1D = 6272]

oW

Correct Answer :-
e John R. Commons/=ita. sme. @ines [Option 1D = 6269]

21) As per the provisions of the Payment of Wages Act, 1936, no fine shall be imposed on any employed person under the
age of:

s Ficrr aftiformr, 1936 & yaanE © adganr efatiaa # 3 fou sy 3 on & el s safte ar o gafen s aemen smesmn ?

[Question ID = 1569][Question Description = $2_qSNz_PG_LBW_Q21]
Twenty one years/21 ad [Option ID = 6273]

Eighteen years/18 o [Option ID = 6274]

Sixteen years/ 16 ad [Option ID = 6275]

Fifteen years/ 15 ad [Option D = 6276]

o R

Carrect Answer :-

® Twenly one years/21 o [Option 1D = 6273]

22) "We believe that if these committees (Works Committees) are given proper encouragement and the past errors are
avoided, they can play a useful role in the Indian Industrial System”,

This statement was given by:

a5 Rpwht 35 & -"'sa o Akl & s aie sor afiiferl (ot wtifr) o1 3kRm girensa Rar s stz g 3 53 salfel 31 =<0 sme, a1 3 sidla
sfienterm o 3 suriett ylmet fonn ea & "

[Question ID = 1570][Question Description = $2_qSNz_PG_LBW_Q22]

1. The Whitley Committee of 1916/1916 &t cerzedt af¥fer [Option D = 6277]

2. The Royal Commission on Labour, 1929/1929 @ ¥ ditara affer oz [Option 1D = 6278]

3. The First Mational Commission on Labour, 196971969 @1 gemn 3k ¢t srh=t [Option 1D = 6279]

4. The 5econd Maticnal Commission on Labour, 2002 /2002 w1 S s opr amet [Option 1D = 6280]

Correct Answer :-
e The Whitley Committee of 191671916 5t cemeet i [Option D = 6277]

23) As per the provisions of the Payment of Wages Act, 1936, the registers, records relating to the payment of wages shall
be preserved for at least how many vears after the date of last entry?

#SGH Forr aftifermm, 1936 @ grasnal @ o0 ASIG @ yorae A Hadalte sfded o fodl gRifte &t fifr A o 3 o fvaa agt ag
e LT Ko sieem 7

[Question ID = 1571][Question Description = 52_gSNz_PG_LBW_Q23]

Three years/di= md [Option ID = £281]
Ten years/sa = [Option 1D = 6284)]
Five years /ol ad [Option 1D = 6282]
Seven years/am ad [Option ID = 6283]

b B

Carrect Answer :-
& Three years/da ad [Option ID = 6281]

24) Which one of the following statements is correct with respect to the Minimum Wages Act?

A weGs Aftrm @ dda i Bewfafian ool # 3 oia 78t 8 ?

[Question ID = 1572][Question Description = $2_qSNz_PG_LBW_0Q24]
1. Only ene Schedule covers different types of seasonal industries/fifime ymr @5 szl swiel o ooz ol acll D P epREi 8 [Option 1D = 6285]
2. Only one Schedule covers different shops and commercial establishments/ fifirea gl wa iR giemoi @ gl et ardt ©am v smet 2 [Option
D = 6286]
3. Three Schedules cover Factories, Plantations, and Mines/wrsmmi, awmsi d Fnei o onbm o adt d= semlRei 2 [Option 1D = 6287
4, One Schedule having two parts covers industries and agriculture /oo sl 2 FBewss 51 s s=iel i it ot erfem =t & [Option D = 6288]

Correct Answer :-
* QOnly one Schedule covers different types of seasonal industries/fifiesr gor o Al == @ ooz us ot D v aeEft 3 [Option (D = 6285]

25) Which among the following is NOT a major type of Safety Audits?

formteiian & 3 Tiel Fean Aaiba O YHE a5 ol & ?
[Question ID = 1573][Question Description = $2_qSNz_PG_LBW_Q25]
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Unannounced Audit/ aaifiey ermiceer [Option D = 6290]

Compliance with standards/aemet & aguem [Option 1D = 6291]

Prometion of safe behaviour/sEim =mgr =1 zimsf= [Option 1D = 6292]

oW

Correct Answer :-
e Scheduled Audit/ smpEr astwe [Option D = 6289]

26) Social Insurance is described as 'giving in return for contribution' and benefits up to the level of

AT e o ufsnfte kear s 2 o6 ag sivera @ fog e sot aron givromr &, fSrerht omer yaien & ;-
[Question ID = 1574][Question Description = $2_qSNz_PG_LBW_Q26]

Luxurious living/Renfimmpm g 7= &t [Option 1D = 6293]
Fair living /sRrT dim =32 «61 [Option 10 = 6294]
Subsistence living/liaar-forfs #1 o5t [Option D = 6295]
Descent living/amifeer e = &5 [Option 1D = 6296]

bl B

Correct Answer :-
o Luxurious living/fenfsemgyet st w2 & [Option 1D = 6293)

27) Due to the operation of the law of diminishing returns, the demand curve of labour

ol f2r oo waa ® ug: -
"IuARET g ® Rigia & guom & oru 9p B Al @ -
[Question ID = 1575][Question Description = 52_qSNz_PG_LBW_Q27]

1. Slopes down /= st 2 [Option 1D = 6297]

2. Moves upward/Zez anet £ [Option 1D = 6298]

3. Remains static/fer z=t & [Qption (D = 6299]

4. Slopes downward and then moves upward/@z uac ofie aneft & i w5z &1 i sl & [Option ID = 6300]

Carrect Answer :-
# Slopes down /&R anet & [Option ID = §297]

28) Usual Status (US) unemployment is calculated with reference to the date of the survey to a preceding period of

SRrstemd 1 AmIe Rl (Yeperc Feew) 6l svmn @ ke Kl sai? © ool Kol @ a<deror o dce! em s 2 -

[Question ID = 1576][Question Description = $2_qSNz_PG_LBW_0Q28]
One day/ww &= [Option 1D = 6301]

Seven days/@r & [Option ID = 6302]

Thirty days/tita &= [Option ID = £303]

Three hundred sixty five days/di= = 8o a [Option 1D = 6304]

o bt B

Correct Answer :-
o One day/ew e [Option D = 6301]

29) Full Employment is said to exist, if

goi Breitsar wa weorar § 519 -

[Question ID = 1577][Question Description = 52_qSNz_PG_LBW_Q29]
1. The actual rate of unemployment dees not exceed the natural rate/#&3mm 6t Tk 53 goite T A affw o 2

[Option ID = 6305]
2. The actual rate of unemployment exceeds its natural rate /idErd arafie o gl g3 3 afds 2

[Option ID = 6306]
3. The actual rate of unemployment is equal to natural rate/&3serdt & ol o2 Qo &2 @ @Ee &

[Option ID = 6307]
4. All of these /3w it

[Option ID = 6308]
Correct Answer ;-
¢ The actual rate of unemployment does not exceed the natural rate/i3seEnd &t ol 57 grfier o2 J aftrr e &

[Option ID = 6305]

30) Which one of the following is NOT concerned with a Job Description?
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[Question ID = 1578][Question Description = $2_qSNz_PG_LBW_Q30]
Job summary/wrf o Aftm frem [Option ID = 6309]

Experience/amsr [Option 1D = 6310]

Working condition/ ot @z &t frfEr [Option 1D = 6311]

Supervision given/kpar srn wigmor [Option [D = 6312]

oWk b2 o

Correct Answer :-

& Job summary/mrf o Afim [Aasor [Option 1D = 6309]

31) Explaining to understand human behaviour which one of the following emphasizes that, "the person and the
environmental situation do not function as independent units but, in conjunction with the behaviour itself, reciprocally

interact to determine human behaviour"”.

AT RIGER O JAHASA 1 RN ol A ReikiRan d A wia 31 BATDsH a9 U2 ad a1 3 75 " aea <eer @ aita o & e ok
iz waiaevia el g sl © =4 #d R o8 ®d 8, aicd o SR T AR UIRiss U A sakpar o 8"

[Question ID = 1579][Question Description = $2_qSNz_PG_LBW_Q31]
Social learning Framework /smfores afdes Baas [Option D = 6313]
Behaviouristic Framework /eezrard @xae [Option ID = 6314]

Cognitive Frameworlk/sizmerons Baa[Option [D = 6315]

Organizational Development Framework/ Ssearre Gaas [Option ID = 6316]

oW =

Correct Answer :-
& Social learning Framework /smnmbes et Baae [Option (D = 6313]

32) "The labour movement prepares the ground wherein the seed of trade unionism grows." Who said this?

u1& ot wer By g sndiaer @6 seher e wrar ¥ Bl 8 afreiars o @s sera 3 7

[Question ID = 1580][Question Description = 52_qSNz_PG_LBW_Q32]
1. G. D. H. Colefstt =t ma wier [Option D = 6317]

2. 5. D, Punekar/es 2t garoz [Option (D = 6318]

3. Karl Mark/rd smrs [Option ID = £319]

4. Frank Tannenbaum/@ e [Option 1D = 6320]

Carrect Answer :-
* G.D. H, Cole/sh=w = [Option D = 6317]

33) The determination of basic long term objectives of an enterprise and the adoption of courses of action and allocation of
resources necessary to achieve these goals is known as:

ud JeE Bt glorndl Sdoifers 329l AT 308 oIS Tl &I yfigzn @1 sislior: @zl Bl yirag e 3o el &1 giffy a5 fore srsdl danersdt &
3IRITST W WEl S § -

[Question ID = 1581][Question Description = 52_qSNz_PG_LBW_Q33]

1. Strategies/wEiicrT [Option 1D = 6321]

2. Policies/sitiewd [Option ID = 6322]

3. Procedures/gitznd [Option D = 6323]

4, Rules/Brm [Option ID = £324]

Correct Answer :-

& Strategies/weiRrf [Option D = 6321]

34) Which one of the following is NOT a principle of coordination laid down by Mary Parker Follett?

forgmterfian A 31 Dlat 211 #d urb: Bict g ARy [Rew 510 Jdeaa © Bigial 3 21 oo @18l 2 -

[Question ID = 1582][Question Description = $2_qSNz_PG_LBW_Q34]
1. Principle of direct contact/gemer 2o @1 figgia [Option 1D = 6325]

2. Principle of early start/amer asar &1 Brgia [Option (D = 6326]

3. Principle of reciprocal relationship f scetie=nianT Fidei o Grght [Option [0 = 6327]

4. Principle of completeness/sguim o Bt [Option 1D = 6328]

Correct Answer :-
® Principle of direct contact/grrer siue @ fitgkt [Option 1D = 6325]

35) Who is alse known as 'the father of social system school' of management thought?

yatia fearenl @ ARt RIa3e Rpel @ Slolkb ®© WU A b3 Sitell &I & 7
[Question ID = 1583][Question Description = $2_qSNz_PG_LBW_Q35]
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Herbert A. Simon/&#e g ister [Option ID = 6329] Your Personal Exams Guide
Henri Fayol/Z=dt o= [Option 1D = 6330]

Elton Mayo/weem amit [Option 1D = 6331]

Chester Barnard/ <=z gaig [Option 1D = 6332]

oLk B2

Correct Answer :-
& Herbert A, Simon/zde & 2lidm [Option 1D = 6329]

36) In an attempt to integrate individual and organisational goals, who developed the concept of Linking Pin?

=Irrend iz Heslons el o Hsa © gand d, Rowel 'kKilkeer e’ &t daveuen @t ifdsa Roen ?

[Question ID = 1584][Question Description = $2_qSNz_PG_LBW_Q36]
1. Elton Mayo/foeeat =t [Option D = 6333]

2. Rensis Likert/38m et [Option 10 = 6334]

3. Max Weber /= gz [Option D = £335]

4. Mary Parker Follett/## nrez wicy [Option 1D = 6336]

Correct Answer :-
e Elton Mayo/eeear a=i [Option ID = 6333]

37) A set of human resource management policies and practices that promote organizational effectiveness is known as:

Hora HATee yatrel i ofiftr iz caaert @1 A3E o Hivsfoe PMlcucddl B dgial &l 2 331 &al Al 8 :

[Question ID = 1585][Question Description = $2_qSNz_PG_LBW_Q37]
1. Human Resource Information System/amm 3w Jron waazar [Option (D = 6337]

2. Human Resource Management System/mom Samwm ggaa saasen [Option D = 6338]
3. Human Resource Audit System /s S orEn seagsen [Option D = 6339]

4. High Performance Work System/ 3w rmusa ©F oazen [Option ID = 6340]

Correct Answer :-

& Human Resource Information System ./ smor izms Ieen saazar [Option D = §337]

38) Taking into account the characteristics of transnational managers, the three core roles and responsibilities: worldwide,

business strategist, architect of an asset and resource configuration and cross-border coordinator and controller are
associated with which of the following forms of transnational management?

afcraredlar geernt @ feroTerdnail @ ¢mot 3f 33 g, Jokehl dler Paea Y siiz sazciRica ;| dffae camanr wicllidmrz, Hald iz dwee o1
HFUUT 7 A dids FHvaaw iz Brign- BeeliiRan # A siagedy gatsa o fva »a A sdifa 8 7

[Question ID = 1586][Question Description = 52_qSNz_PG_LBW_Q38]
Worldwide functional management /fiFae Rirmragr g [Option 1D = 6341]
Geographic subsidiary management/ siisiférs serre gasm [Option ID = 6342)

Global business management/dFT == gEem [Option 1D = 6343]

Top-level corporate management/3za ik Bem (Corporate)gmaa [Option 1D = 6344]

R

Correct Answer :-
o Worldwide functional management /iy frrrerr geer [Option (D = 6341]

39) Who among the following focussed on the soft side of an organization as a sequel to globalization comprising adhocracy,
simple structure, the divisionalized form, the machine bureaucracy and the professional bureaucracy?

fBrrmterf3aa 3 A wior dftwror @ ultona Fasa srasa agedar, @va dvaen, il =a, afish simrendl aen A9y siwrondt i dooa ©
DidcT Uall uz 2 Diga s & ?

[Question ID = 1587][Question Description = $2_qSNz_PG_LBW_Q39]
1. Burns and Stalker/@e< itz iz [Option D = 6345]

2. Henry Mintzberg /et ficemest [Option ID = 6346]

3. J.S. Black/a = w8 [Option 1D = 6347]

4, Bartlett and Ghoshal/ate ik giam [Option 1D = 6348]

Correct Answer :-
# Burns and Stalker/a=d 3w =i [Option D = £345]

40) The quantitative gauge of a human resource management activity, such as employee turnover, hours of training per
employee, or qualified applicants per position is known as:

AT HHLIel Yatlol @ feganascyl @l IoIcad e, Sizifc oatardl ufrarde gz, gfia st gidrenn & d@e sterar gl ug Aea oaaixi B
FHEAI 1 WDel ST & -

[Question ID = 1588][Question Description = $2_qSNz_PG_LBW_Q40]
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Human Resource Benchmarking fArem S o7 Aiees Fitea 3a [Option (D = 6349] Your Personal Exams Guide
Human Resource Data Analytics/#reg s & ameel ol feeraon sozan [Option 1D = 6350]

Human Resource Metrics/ e demier s [Option ID = 6351]

Human Resource Appraisal /omem sesmme 7g= foredzon [Option 1D = 6352]

oW

Correct Answer :-
* Human Resource Benchmarking/mea JHrm @ aexs 2ot T3 [Option (D = 6349]

41) Which of the following are the internal factors of recruitment?
A. Recruitment Policy

B. 5ons of the soil

C. Image

D. Human Resource Planning

Choose the correct answer from the options given below:

frrafedaa 3 e A wecll & snafye ore § 7

A. siwdt Sfifer

B. sifdr g

C. sfa

D. Frera AT AISTo

ol f8u a1e Rrpedl d 31 w18t 3 w1 ags &tk

[Question ID = 1589][Question Description = $2_qSNz_PG_LBW_Q41]

A, Band C only/=sm A, B iz C [Option ID = 6353]
A and B only/dsm A &z B [Option 1D = £354)]
A and D only/@ae A itz D [Option ID = 6355]
A, C and D only/aae A, C afiz D [Option ID = 6356]

ol B

Carrect Answer :-
* A BandConly/ssgm A, B sfiz C [Option ID = 6353]

42) Which among the following are the determinants of the supply of labour?
A, Product demand

B. Preference for Work versus Leisure

C. Number of firms

D. Number of qualified suppliers

Choose the correct answer from the options given below:

foreoifer3an 4 31 wlot 3 9 DI el @ wew & 7

A. seur &t AieT

B. sramier g w1 Bl Yrefdman

C. ufori Bt dw=n

D. dwa agfieoalaii &t Fiz=n

oil few s1e faamcdl d 3 18t it @I wRIa Hifae ¢

[Question ID = 1590][Question Description = $2_qSNz_PG_LBW_Q42]

1. Aand B only/waa A & B [Option ID = 6357]

2. Band C only/w@w B diz C [Option 1D = 6358]
3. Cand D only/fwerr C 3z D [Option D = 635%]
4, Band D only /o B gz D [Option 1D = 6360]

Correct Answer :-
® Aand B only/dam A dfiz B [Option ID = 6357)

43) Which among the following are theories of labour welfare?
A. Social Responsibility theory

B. Placating theory

C. Public Relations theory

D. Coordination theory
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E. Accountability theory Your Personal Exams Guide

Choose the correct answer from the options given below:

Tergmfeilian i 31 Dol o Toaw & Bigia & ?

A, sanfore sazcIRia @1 Bigia

B. it w1 Bigia

C. uiéare froYorst o Rigia

D. wrHeaw o Brgia

E. snziRra o1 Brgia

oiter faw a1 faaseal 3 3t 7dl one o1 e B @

[Question ID = 1591][Question Description = $2_qSNz_PG_LBW_Q43]

1. Aand B only/@am Az B [Option ID = 6361]
2. Band Donly/ww= B dz D [Option 1D = 6362]
3. Band C only/ww= B diz C [Option 1D = 6363]
4. D and E only/o5e D #fiz E [Option 1D = 6364]

Correct Answer ;-
o Aand B only/dsm A 3z B [Option 1D = 6361]

44) Which among the following are the indirect costs of industrial accidents?
A. Loss of earning power

B. Loss of production

C. Paperwork

D. Legal issues

E. Equipment

Choose the correct answer from the options given below:

fogmferian 3 3 Jfelfe gHcansi & agras ufter § ?

A, oiRp sursfer &t sifir

B, srurcet &t gifer

C. oPRl orf

D. ®oph e

E. sumr

oifr few a1e fimseal 3 21 Hdt Iz @1 ada oifao ¢

[Question ID = 1592][Question Description = $2_qSNz_PG_LBW_Q44]

A and B only/@m A # B [Optien ID = 6365]
A and C only/oae A &z C [Option ID = 6366]
B and D only/awe B di= O [Option 1D = 6367]
D and E only/amr D giz E [Option 1D = 6368]

N R VC I

Correct Answer :-
o A and B only/dsm A 3z B [Option 1D = 6365]

45) Who among the following are Classical Economists?
A. J. B. Say

B. Marshall

C. Pigou

D. David Ricardo

Choose the correct answer from the options given below:

foremifeilian 3 wia eme<ikr aretomefi 3 7
A.sL st a
B. amota
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C. disy, Your Personal Exams Guide
D. 3Rz Prasrst

ol 8u a1e Rrpodl d 31 718t 3w @1 ags &k

[Question ID = 1593][Question Description = $2_qSNz_PG_LBW_Q45]

1. A and B only/saa A3l B [Option 1D = 636%]
2. Band C only/@ae B iz C [Option ID = 6370]
3. Aand D only/@ae A 4z D [Option ID = 6371]
4. Cand D only/d@Fe C aftz D [Option D = 6372]

Carrect Answer :-
* Aand B only/@am Az B [Option 1D = 8369

46) Who among the following were the founder members of the Red Trade Union Congress?
A, 5, V. Deshpandey

B. G. L. Khandelkar

C. B. T. Ranadiv

D. R. R. Bhalla

Choose the correct answer from the options given below:

Braftiad 3 A oo 35 35 IR TS & AFus TeE § 7

A, oadigomiz

B. sit.oa. wmoeemre:

C. @&

D. 3. snesrean

il R oo Rraseal 3 A w18 37 w1 9rwer Hifsre @

[Question ID = 1594][Question Description = 52_qSNz_PG_LBW_Q46]

A, C and D only/sae A, C iz D [Option ID = 6373]
A, B and C only/dae A, B a3tz € [Option ID = 6374]
B, C and D only/@aet B, € afiz D [Option ID = 6375]
A, B and D only/d5aet A, B 4tz D [Option D = 6376]

N S PO o s

Correct Answer :-
e A, CandD only/d@wae A, C 3z D [Option ID = 6373]

47} Which of the following are the ways of determining a representative union for the purpose of Collective Bargaining in
India?

A. Code of Discipline

B. Secret Ballot

C. Check-off System

D. Membership Verification

Choose the correct answer from the options given below:

" 3 Al dicarsll & 3gea o fere ylafefr sia o Ffeif wra @ foraidifiaa d ola A allas & ?
A . aenam &t wfgar

B. 31 adea

C. 9% - 2w Brea

D. sgTadr Acaast

ofir e =1e famcal # 31 Jé sz @1 aga bife ¢

[Question ID = 1595][Question Description = $2_qSNz_PG_LBW_Q47]

A and B only/@m A #iz B [Option ID = 6377]

A, B and C only/=a= A, B 4w C [Option ID = 6378]
B, C and D only/=== B, C 3fiz D [Option ID = 6379]
. A, B, Cand D/A, B, C &z D [Option 1D = 6380]

N N VE N S ey

Correct Answer :-
e A and B only/dsma A 3z B [Option ID = 6377]
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48) Which three welfare schemes for unorganized workers, the Central Government shall formulate and YRR ERRAANifMs Guide
under the Unorganized Worker's Social Security Act, 20087

A. Life and Disability Cover

B. Protection of Employment Cover
C. Health and Maternity Benefit

D. Old Age Protection

Choose the correct answer from the options given below:

=i weenEl 95 Rre fver fisr weamer Ao @) srasifoa wmene aenfrrs ggn siftiferas, 2005 @ siveia, 4 aver T - aaa a3
uyfrarRa afiz aftegfRe el ?

A, Silger 31z arerbel g

B. 3zam 2z Isen: o9

C. Farre i A ol

D. ggarenm Fgzam

oiicy few =1z faascul 3 31 #dl Sz @I s il @

[Question ID = 1596][Question Description = $2_qSNz_PG_LBW_Q48]

A, B and C only/=a= A, B 4w C [Option 1D = 6381]
A, Cand D only/wme A, C &z D [Option ID = 6382]
A, B and D only/==m= A, B iz D [Option ID = 6383]
B, C and D only/=zm B, C 3fiz D [Option ID = £384)]

Db ot R -

Correct Answer :-
o A, BandConly/@mm A, B sz C [Option D = 6381]

49) By end of 1933, which three all India trade union organizations were in existence?
A. All India Trade Union Congress

B. The Red Trade Union Congress

C. National Trade Union Federation

D. Indian Trade Union Federation

Choose the correct answer from the options given below:

o1 1933 @ sict aep wier 1 e sif¥aer st offires wm (B3 yforarer) arfivea & & 7
A, aif¥aer sredtan gffdies s ®iRjE

B. ¥ {3 gformar oA

C. si9moTal 23 YfoRTol Waglel

D. $f3aet g3 Ylormer wsyerst

i 2w a0 faaseal 3F 31 JE 3z &1 aua Hifaw ;

[Question ID = 1597][Question Description = $2_qSNz_PG_LBW_Q49]

1. A, B and D only/dxze A, B 3z D [Option ID = 6385]
2. A, Band C only/dxze A, B 3tz C [Option ID = 6386]
3. B, Cand D only/d@xe B, C aiz D [Option ID = 6387]
4, A, Cand D only/a= A, C &z D [Option ID = 6388]

Correct Answer :-
o A, Band D only/@am A, B sfiz D [Option [D = 6385]

50) Who among the following took the lead in organizing the Federation of Indian Chamber of Commerce?
A. 5ri Purshottamdas Thakurdas

B. Lala Shriram

C. G, D, Birla

D. Dhirubhai Ambani

Choose the correct answer from the options given below:

forraifert¥e 3 31 Rsesior Bsigrer siw £R7e1 Fav dife Wi o Aafda w3 stgrawrd yficor Bood ?
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A. off gsdina orpIGIA Your Personal Exams Guide
B. arenr offzra

C. sit. 3. fesen

D. efeurs sl

ol 8u a1e Rrpodl d 31 718t 3w @1 ags &k

[Question ID = 1598][Question Description = $2_qSNz_PG_LBW_Q50]

A, B and D only/=szm A, B 3iiz D [Option D = 6389]
A, B and C only/&am A, B sfiz C [Option ID = 6390]
B, C and D only/s=m B, C 3fiz D [Option ID = £391]
A, C and D only/daa A, C afiz D [Option ID = 6392]

ol P

Carrect Answer :-
& A B and D only/a@am A, B afiz D [Option (D = 6389]

51) Which of the following are the key components of a third-generation balanced scorecard?
A, Destination Statement

B. Strategic Objectives

C. Strategic Linkage Model and Perspective

D. Measures and Initiatives

Choose the correct answer from the options given below:

forraifertiae 3 21 @tel 31 4 Siolglal ATH THR DS D F&T Jaad & 7

A. 3¥diarerar v

B. weelorr sifssifca

C. eforr Rrpst disa ¢z aafyca

D. dioret ¢ weliforeiRen

il R s1g Rraseal 9 71 78 377 w1 ava $Hifwe :

[Question ID = 1599][Question Description = $2_qSNz_PG_LBW_Q51]
1. Aand Bonly/@ma A3 B

[Opticn ID = 6393]
2. Cand D only/oma C sfiz D

[Option ID = £394]
3. A Band Conly/dmm A, Baliz C

[Option ID = 6395]
4. A, B, Cand D/A, B, Caiw D

[Option ID = £396]

Correct Answer :-
o AandBonly/drmAdRB

[Option ID = 6393]

52) Which two of the following organisations conducted a joint workshop on the subject of defining the informal sector in
19977

A. The National Commission on Labour

B. National Council for Applied Economic Research {(NCAER)
C. The Self-Employed Women's Association (SEWA)

D. The National Commission on Rural Labour

Choose the correct answer from the options given below:

fogateifian 3 3 fva 2 Fiswdl o ad 1997 d amiuafys g o ulsnfin oo & Riaa uz v s orfemar o aritsH s ?
A, otorelcl wditerd sliot daz

B. < otelore wr3fiel Wiz wcdizs sotelifiin et (NCAER)

C. T Ach IR gAcH wHifusrer (SEWA)

D. g oromier @ailer aifer B3 oas
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s v s1v Rrwseal 3 3 w8 37 o awa Bt Your Personal Exams Guide
[Question ID = 1600][Question Description = $2_qSNz_PG_LBW_Q52]

1. A and B only/@ae A 3fiz B [Option 1D = 6397]
2. Band C only/@ae B iz C [Option ID = 6398]
3. Cand D only/awe C 3fiz D [Option (D = 6399]
4. A and D only/@wc A &tz D [Option ID = 6400]

Correct Answer :-
o A and B only/f@am A &z B [Option ID = 6397]

53) As per the approved list of Indian Labour Conference, in which of the following three items should the Works
Committee not normally deal with?

A. Wages and Allowances

B. Administration of welfare and funds

C. Bonus and profit-sharing schemes

D. Matters connected with the fixation of the standard labour force

Choose the correct answer from the options given below:

RweiferRan 3 3 Roet diler Rrell uz Rl AT B szl o w1gdlcr 6t agAiRa aell & Iy AREER U2 Rar a8 o aike ?
A, dad 3tz sm

B. @caml 3z @i o1 gdtel

C. dler 3tz any Razorerd derend

D. Wi o Ao & Riefzur A o A

oiter faw a1 faasedl 3 3t 7él one o1 aaa B @

[Question ID = 1601][Question Description = $2_qSNz_PG_LBW_Q53]

1. A, B and C only/dxze A, B aiiz C [Option ID = 6401]
2. A, Cand D only/wsaer A, C 3 D [Option ID = 6402]
3. B, Cand D only/@am B, C sfiw D [Option ID = 6403]
4, A, B and D only/@we A, B sfiz D [Option D = 6404]

 Correct Answer :-
o A, BandC only/dmm A, B 3z C [Option D = 6401]
54) Choose the correct options regarding the theories of Motivation
A. Theory 'X' and "Y' are similar to each other
B. Two factor theory is derived by McGregor
C. The concept of ERG theory is similar to Maslow's hierarchy of needs theory

D. McClelland has identified the need for power, need for achievement and need for affiliation as the motivating needs

Choose the correct answer from the options given below:

AR & Rigi ® sy ¥ Rr Ao o ghw -

A, X stz Y Ragia oo gy @ wam 8

B. g tacs Rigin i - Sor © g giinniza &t s

C. f.amz5h. (ERG) firgia &1 sicscusn izl & aedbal Uelgldd Rigia & wiame &

D, Jacids o 9if#p Bl sraeadsar, Iualder &bl araeaar iz daerel &l ATEIRGAT B! AMBIUZUT MA9IAHAIN B WU d Ugdlall
oil few s1e [amcul d 3 8t iz @I wRIa Hife ¢

[Question ID = 1602][Question Description = $2_qSNz_PG_LBW_Q54]
1. Aand C only/eaer A diz C

[Option ID = 6405]
2. Band C only/ar B diz £

[Option ID = 6406]
3. Cand D only/@vaa C sfiz D

[Option ID = 6407]
4, Aand Bonly/sm Adz B

[Option ID = 6408]
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Correct Answer ;- Your Personal Exams Guide
o Aand Conly/dmaAdz C

[Option ID = 6405]

553) By which three of the following ways can an individual performance be planned?
A, Task analysis or activities analysis

B. Key Result Areas and Goal setting

€. Key Performance Area

D. Key Description Area

Choose the correct answer from the options given below:

forgmieifian 3 21 fsar dia olio! 21 foeell caltp @& Sriforsage & Adieren s o1 o & 7
A, ®rl firaau @1 g kpcawr

B. gz ufwia giq sfiz ase fererfzon

C. gz orirurs &g

D. ggm= et 8¢

il e =1e famcul # 31 Jé sz @ ada bifae ¢

[Question ID = 1603][Question Description = $2_qSNz_PG_LBW_Q55]

A, Band Conly/®a= A, B iz C [Option ID = 6409]
B, C and D only/®== B, € afiz D [Option ID = 6410]
A, Cand D only/wer A, C &z D [Option ID = 6411]
A, B and D only/<sm A, B 3iiz D [Option D = 6412]

N N VU T

Correct Answer :-
e A, BandConly/dmm A, B C [Option ID = 6409)

56) Consider the statements relating to the fines under the Payment of Wages Act, 1936

A. No fine shall be imposed on any employed person until he has been given an opportunity of showing cause against the
fine

B. The total amount of fine which may be imposed in any one wage period on any employed person shall not exceed an
amount equal to three per cent of wages

C. Every fine shall not be deemed to have been imposed on the day of the act or omission in respect of which it was
imposed

D. Fine shall not be imposed on any employed person who is under the age of fifteen years

E. All fines and all realisations shall be recorded in a register to be kept by the person responsible for the payment of wages

Choose the correct answer from the options given below:

HAGH For aftfera, 1936 @ sivela Jafel & zde 3 foaforiian sl gz faarz Hifsw ©

A, feozft oft foralifora safep Uz aa ao gufen oriél oI Aeen =9 oo &6 323 gatol & fiaens oo ade! @ saaz «@ a1 &
B. Riveft Briifr safts az Rielt v worgdl smifts 3 oeig sir wcwer @l Stsr ot wor aidy #sedt @ dor gfiera 31 sftrs o) a0
C. grdes Spmfon wrel 2 gov & 3o Ror cemran srn oY wirei sresn Brards Fder F a5 oo star

D. dgz ad A wa 33 @ e e walRr a7 sien s aen=n sreen

E. s} spafant sifv w8 quffreil o) sreigft o viorr @ Rre saverht safts o arr v WBrey A oSt R smeen

oflY R s1g Rraseal 9 71 78 a7 w1 aua Hifwe :

[Question ID = 1604][Question Description = 52_qSNz_PG_LBW_Q56]

1. A, B, C and D only/aaa A, B, C iz D [Option 1D = 6413]

2. A, B, C, Dand E/A, B, C, D 3fiv E [Option D = 6414]

3. A, B, D and E only/d@ae A, B, D 4fiz E [Option ID = 6415]

4. A, B, C and E only/dsae A, B, C 4 E [Option ID = 6416]

Correct Answer :-

e A, B, Cand D only/@aa A, B, € stz D [Option ID = 6413]

57) Consider the statements with respect to the minimum rate of wages fixed or revised, under the Minimum Wages Act,
1948

A. Basic rate of wages with or without the cost of living allowances
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B. Basic rate of wages and a special allowance at a rate to be adjusted at such intervals by the appropriatezoveengwntl Exams Guide
C. An all-inclusive rate allowing for the basic rate

D. Basic rate inclusive of house rent allowances and travelling allowances

E. Cash value of concessions, if any

Choose the correct answer from the options given below:

ool Asicy sifeforaa, 1948 @ sirela Asigll B oty ar AR wgpiaa or @ ALl 3 forrolcrian wemil Uz krr bl &
A. foralzs sl bt cew sfaa ar 39 [Son ssrgdl i ghrdt o2

B. s=idl bl giorndl 57 Az wgiRe IR gRI 33 siverl e Jaribm &2 uz fadlg s

C. gforndl 53 @ feme srogaca ol samdell o2

D. srprel Rperr s 3fiz Ay s #fza giorndt o2

E. fr=meml @1 oroe 3o, Il o 3t Al

oifer o are fomseul 3 31 78t 3ae 9ol @

[Question ID = 1605][Question Description = $2_qSNz_PG_LBW_Q57]

1. A, B, Cand E only/=wmT A, B, C 3z E [Option ID = 6417]
2. B, C,Dand Eonly/=wmT B, C, D sz E [Option ID = 6418])
3. A, B, C,Dand E/A, B, C, D 3iiz E [Option ID = 6419]

4. A, C, D and E only/dmer A, C, D diz E [Option 1D = 6420]

Correct Answer :-
* A B, CandE only/dae A, B, C 3w E [Option ID = 6417)

58) Consider the statements in connection with the Nomination under the provisions of the Payment of Gratuity Act, 1972
A. An employee who has completed one year of service shall require to make the nomination in the prescribed form
B. An employee may, in his nomination, distribute the amount of gratuity payable to him, against more than one nominee

C. An employee is required to make a nomination in favour of one or more member of his family if having family at the time
of making the nomination

D, If a nominee predeceases the employee, the interest of the nominee shall not revert to the employee

E. A nomination once made by an employee can be modified by the employee at any time with written notice to the
employer

Choose the correct answer from the options given below:

Fasrat FHora sftiferre, 1972 @ saded @ siasta suBriloro & dda # so ool av B o3

A. o1 walnrd Brwet araeh oo ad & Jrar gt o it &1 saA fAfda grea # amica $ sdan Seh

B. @i ankn® srast snarieser i 3A yerare B sieredl saser iy D dfiaver v 7 aftrer snliferd oF @ o woar @

C. fasf) watard 31, af? suwicvar @ wara IawT af¥awr 21 a v serar Aftes A o© Ba i aies oo siafdm 3

D. afe fisi enfiifey 6t g wolar® 3 gsdt & srdl 8 aY 3w subifer o B wata®t @ Ba 3 sraiafya &8 don

E. Reft wdard o oo ar nwaiows e sid o7 Brarm: o5t Reedl of wera filaa snfew 39 su sud gra Aeifer fven s awen 3
oY R s1o Rrasedl A A =8 3w o ¢

[Question ID = 1606][Question Description = 52_qSNz_PG_LBW_Q58]

A, B, C and D only/gsaa A, B, C 4z D [Option ID = 6421]
B, C, D and E only/aaer B, C, D &z E [Option ID = 6422]
A, B, D and E only/@aer A, B, D &3 E [Option ID = 6423]
A, B, C and E only/@ae A, B, C sfiz E [Option 1D = 6424]

B T e

Correct Answer :-
e A, B, Cand D only/@aa A, B, C stz D [Option 1D = 6421]

59) Which of the following are the advantages of group activities in accordance with the functions of an enterprise?
A. Logical reflection of functions

B. Maintain power and prestige of major functions

C. Follows principle of occupational specialisation

D. Responsibility for profit is at the top only

Choose the correct answer from the options given below:
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U JEE @ YBRI & Angsyu eatarfian 3f 2t ola 3 agide sifafaftry & o § 7
A, ymrit o aifde yfafiac

B. azca gyooril &t arfip siiz gideoT ot dolle Ta6l

C. cmaafPes RAdvasrm & gl o urae swon

D. T arsiar @t offfea Bre oftd oz 3

sfta Re s1¢ Rraseal # 31 78 30w gl :

[Question ID = 1607][Question Description = S2_gqSNz_PG_LBW_Q59]

1. A, B and C only/a@am A, B Jfiz C [Option D = 6425]
2. Aand C only/aaa A dite C [Option 1D = 6426]

3. A, Band Donly/@aa A, B 3tz D [Option D = 6427]
4. A, Cand D only/@ae A, C ofiz D [Opticen ID = 6428]

Correct Answer :-
o A, BandC only/@am A, B sz C [Option [D = 6425]

60) Which of the following factors are given in Porter’'s Diamond?
A. Factor conditions

B. Related and supporting industries

C. Market conditions

D. Demand conditions

E. Firm strategy and rivalry

Choose the correct answer from the options given below:

qidz @5 srs # Beaffioa #d 3 ol - ofia 3 gew Rose § -

A. gcw gomd

B. Hsifire oo warars et

C. gz &5t gond

D. yffreara &t weilfer itz gffigiam

ol B =10 Repedl d 3 718t 32 9ot ¢

[Question ID = 1608][Question Description = $2_qSNz_PG_LBW_Q60]

1. A, B, Cand D only/=wmm A, B, C &z D [Option 1D = 6429]
2. B, C and D only/dam B, C, D 4z E [Option 1D = 6430]

3. A, C, Dand E only/gsaa A, C, D &z E [Option ID = 6431]
4. A, B, Dand E only/gsmam A, B, D afiz E [Option ID = 6432]

Carrect Answer :-
o A B, CandDonly/@aa A, B, C itz D [Option 1D = 6429]

61) The facilities covered under the welfare and health of contract labour as per provisions of the Contract Labour
(Regulation and Abolition) Act, 1970 are:

A. Canteens

B. Drinking water facilities
C. Creches

D. Restrooms

E. First-aid facilities

Choose the correct answer from the options given below:

a iaend Sl soydienT o (fforraer afiz Joacton) anfeiforem, 1970 @ yraammil & 3[R AERERT SIS o Dol 3T T & 3Pl
Famfde &t soelt ¥ -

A, &8
B. tarere &t afrem?

C. urcemaz

D. Ropsmcr
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E. gemiluear FRend Your Personal Exams Guide
sl fon s1e Rrpedl 3 3t 78t 3o ol ¢
[Question ID = 1609][Question Description = 52_gSNz_PG_LBW_Q61]

A, B, C, Dand E/A, B, C, D 3fiz E [Option D = 6433]

A, B, D and E only/amT A, B, D 3z E [Option 1D = 6434]
A, B, C and D only/dsaa A, B, C diiz D [Option 1D = 6435]
A, B, C and E only/a@ae A, B,C #fiz E [Option 1D = 6436]

o B

Carrect Answer :-
s A B, C,Dand E/A, B, C, D 3fiz E [Option ID = 6433]

62) Which two of the following conventions of ILO related to Freedom of Association, Right to Organise and Collective
Bargaining have NOT been ratified by India?

A. Convention No 11
B. Convention No 87
C. Convention No 98
D. Convention No 100

Choose the correct answer from the options given below:

ferasiferl¥an A 31 g ud 3t @ Koot 31 Al @1 swRa g siopeelor sl Kown srn 3 5l w1 &l Faddgen Al Je1o01 Bd dgide Hicdrell O
aferers 3t Hdftra 8 ?

A, afimmr H= 11
B. afirgser =, 87
C. afirmar ¥, 98
D, sifiremar #.100
olfer 7w s1e faasedl 3 31 Fl Fre @ or’Iol Hifu

[Question ID = 1610][Question Description = 52_qSNz_PG_LBW_Q62]

A and B only/<wa A iz B [Opticn 1D = 6437]
B and C only/@as B stz € [Option 1D = 6438]
C and D enly /s C sfiz D [Option 1D = 6439]
A and D only/oae A &z D [Option 1D = 6440]

I FU R o e

Correct Answer :-
® A and B only/d@wre A 3 B [Option ID = 6437]

63) Consider the following statements under the Building and other Construction Workers' (Regulation of Employment and
Conditions of Service) Act, 1996

A. A building worker who has been registered as a beneficiary under the Act shall cease to be beneficiary when he attains
the age of sixty years

B. A building worker shall cease to be a beneficiary if he has not worked for at least ninety days in a year

C. If the building worker had been a beneficiary for at least three years continuously immediately before attaining the age
of sixty years, shall be eligible to get benefits

D. While computing the period of ninety days, the period of absence from the building or other construction work due to
any personal injury caused to him by accident arising out of and in the course of his employment shall be included

Choose the correct answer from the options given below:

961 O 31571 Aftotaion R (ASPIR o Ridree v Aar o) sififdrm, 1996 @ simela RrwftiRan wusl w Far ©3 -

A. aftorm @ sivela apmed @ Fu 3 Usiiam P o Ao ad & arg @@t ot & onaei 581 3w smeen

B. o symaa wmeR, die 3ua Resdl ad 3 oa 31 o o el oo orl @ Roen 2 o o arael a8t ' simeen

C. ai? w1 sac orRER w1 ad 6 3R] gt @6 @ Sk usdl od 3 o dic aul oo anodf a1 8 At ag ol @ g el T ung den

D. oiea R4 Bt araf?r @ s o TR 996l AT He Alsoraivl wri A sl Tatew aiftr, =i 3 Brilse & diaa Resdt gHdcar 3 38 31,
o> 10T g aroquiderter &t sraffn T3t onfarer &6l srwsh

siral 2w s1e faoscal 3F 3 738 aaz o1 aaae B
[Question ID = 1611][Question Description = $2_qSNz_PG_LBW_Q63]
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A, B and C only/ssam A, B 3fiz C [Option D = 6441] Your Personal Exams Guide
A, B, Cand Donly/A, B, C 3fiz D [Option |D = 6442]

B, C and D only/@aa B, C sz D [Opticn 1D = 6443]

A, B and D only/@aa A, B sitz D [Option 1D = 6444]

N S PO L ey

Correct Answer :-
o A BandC onlyfa@am A, B afiz C [Option D = 6441]

64) Which of the following are true relating to Potential Appraisals?

A. Inform employees about their future prospects

B. Help the organization to chalk out a suitable succession plan

C. Update training efforts from time to time

D. Advise employees about what they must do to improve their career prospects

Choose the correct answer from the options given below:

Fvufort g Rrerfr & Fider 3 BraRRaa A A sla w78t 7

A. wpatnfal w1 3o ity &t seotfer @ an F AR oo

B. 3= Iormline s &t Fu3an gonal d Fe1oal Bl FERIT 3o

C. I - 39 uz gidngor @ EIHl © 3ERTE Sl

D. watnixil ®t et Son i 363 el U9t 3 geifer <& fore @ oo anfde
ol B =1e Repedl 3 3 318t 302 9ot ¢

[Question ID = 1612][Question Description = $2_qSNz_PG_LBW_Q64]

1. Aand B only/dsm A d B [Option 1D = 6445]

2. Band C only/w@w B diz C [Option 1D = 6446]

3. A, Band C only/aam A, B 3fiz C [Option D = 6447]
4. A, B, Cand D/A, B, C 4z D [Option ID = $448]

Carrect Answer :-
® A and B only/@aa A 2 B [Option ID = 6445]

65) Consider the statements in connection with the liability for payment of wages to an inter-state migrant workman under
the provisions of the Inter-state Migrant Workmen {(Regulation and Employment and Conditions of Service) Act, 1979

A. The contractor shall be responsible for payment of wages to each inter-state migrant workman

B. The principal employer shall nominate a representative duly authorised by him to be present at the time of disbursement
of wages by the contractor

C. It shall be the duty of the contractor to ensure the disbursement of wages in presence of the employers representative

D. In case the contractor fails to make payment of wages, the principal employer shall not be liable to pay wages to the
inter-state migrant workman

Choose the correct answer from the options given below:

Morzlwre garil sioer (A=enz ol diorpe od Jar -ort) sftiform, 1979 & yaimil & Ao siaeaf=re yaril sHasrR] o FHdc asgh
o qiRra @ wgeer A Pt weel a3 R o3 -

A, ged siavafSs gureit weene @ T wegh o oifca 3dcr a2 S
B. genar farieor arast gan quifrga el gitifeiien o e e asmed o Afdoeer wa ww safden wat © e anfira oy
C. sder wr a8 ¥ gen By o5 aw afeifa oy 5 aegdl o1 dAfmver wad Jer Briver @1 gfafed yof¥aa a

D. af? Sdsr wagd @ s wedr # Rwa vsm 8 o gens frart simiBae gandt oHaont o aech o s o0 © R mer @t
gl

of fon a1e farscal 3 3 78 saz gt @
[Question ID = 1613][Question Description = $2_qSNz_PG_LBW_Q#65]

1. A, B and C only/@== A, B 4w C [Option D = 6449]
2. B, Cand D only/@am B, C sfiw D [Option ID = 6450]
3. A, Band Donly/<mm A, B 3iiz D [Option D = 6451]
4, A, Cand D only/<wr A, C &z D [Option ID = 6452)
Correct Answer :-
o A, BandC only/dmm A, B sz C [Option D = 6449]
66) Match List | with List [l
| LList | List Il
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Trade Unions [Founder President Your Personal Exams Guide
A. Madras Workers Union 1. B. P, Wadia

B. All India Trade Union Congress . V. V. Giri

C. Indian Trade Union Federation Il Lala Lajpat Rai

D. Indian National Trade Union Congress |IV. Suresh Chandra Bannerjee
Choose the correct answer from the options given below:

2 -1 B 3t -1l 2 R Bifw

e2ezi gl axedt -l

(o i) (HreRD 3181e1)
A, FGIH BINONE W 1, & dlaifz=n

B. aaa szl o Jim wisja Il. €t Brit

C. siredter opr ufrsin 111, ST SISO IR
D. sfier sl o wim sl IV. Fyowic aarsil

oftdr e o1 frwseal & 7 =8l sav g
[Question ID = 1614][Question Description = 52_qSNz_PG_LBW_Q66]

1. A-1,B-1lC-Il,D-IV[Option ID = 6453]
2. A-1,B-1,C- I, D- IV [Option ID = 6454]
3. A-1l,B-1,C- I, D- IV [Option ID = 6455]
4. A-1,B- 1V, C-1l, D- Il [Option ID = 6456]
Correct Answer :-

e A-1,B-1ll,C-1l,D- IV [Option ID = 6453]

67) Match List | with List [l

List | List Il
chedule of
Provisions given in the schedule Industrial

Disputes Act

A. lllegality or otherwise of a strike or lock-out {I. Schedule llI

B. Shift working otherwise than in accordance with

fil. Sch v
standing orders Schedule

C. Any changes in contribution paid or payable by
the employer to any provident fund or pension flll. Schedule Il
fund

D. Failure to implement award, settlement, or
agreement

[IV. Schedule IV

Choose the correct answer from the options given below:

it -1 B 3t -1l @ @R iR

et -| et -l
(A= fac
(srogertt 3 R s1w yrremon) RBrern 6 )
A. FSART IRMI AleiE<l bl ARG IRMAT 36T DI L A 1l
RS
B. warell snSont o aedwr A sowan forge ot 1. arorpeht V
C. Rpoit siftreer forflr srerar cdiorer forfer o forilet orr R i I
510 ferdl [2pe Sie! arar sierrel 3 @1d uftacdsr »
D. dere oIasen AeEl B3R & Reisasisl # fawsa IV, atopaget IV

iy v s1e fsedl 3 31 78t 3w gfew ;

[Question ID = 1615][Question Description = $2_qSNz_PG_LBW_Q67]
. A-NLB-ILC-1,D-I¥

[Option ID = 6457]
2. A-NL,B-1,C-1V,D-1I

[Option ID = 6458)
3. A-IV,B-1,C-1l,D-1I

[Option ID = 6459]
4. A-1,B-IV,C-1L,D-1
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Correct Answer :-
& A-NL,B-1,C-1,D-1I¥

[Option ID = 6457]

68) Match List | with List [l

List | List I

A. Job analysisll. A list of human requirements of a job

B. Job Il. Assigning workers additional activities at the same
specification [level

C. Job lll. Procedure for determining the duties and skill
description  [requirements of the job

D. Job

IV. A list of duties and responsibilities of a job
enlargement

Choose the correct answer from the options given below;

et -1 ot el -1l 3 ghfer i
aedt - it -1l
A. ot Redsaor . Rl ori & mordia gl B oo gt

ittt [ll. avFendt Y Franer Faz o afelyes e Aigen
ferfordorer

C. wri goiar |Ill.aﬂﬁaﬁaﬂaﬁ?ﬁsﬁzaﬁ9mmmaﬁ$f&immzﬁqﬁ;m

D. wrf Raefor |IV.MMﬁﬂﬁﬂmmlﬁﬁﬁqﬁmméﬁiﬁiﬁtwq?ﬁ

sk o oo Repedl & 31 318l 3092 gione :

[Question ID = 1616][Question Description = $2_qSNz_PG_LBW_Q68]
Toili= My Beoe B 0= Dl

[Option ID = 6461]
2, A-LB-IL,C-U, D=V

[Option ID = 6462]
3. A-IV,B-1l,C-1I,D-1

[Option ID = 6463)
4, A-N,B-IV,C-1,D-1I

[Option 1D = 6464]

Correct Answer -

e A-NLB-LC-IV,D-1
[Option ID = 6461]

69) Match List | with List [l

it List Il
Type of MNC Focus
A. Multinational |. Home market and export
Il. Local responsiveness and
B. Global Rare
transfer of learning
. | :
C. Domestic .Gluba stre.lt?agy low cost and
lprice competition
. IV. Local responsiveness and
D. International i P ; 4
Flobal integration

Choose the correct answer from the options given below:

IRt -1 @ et -1l 3 AR Hif
et -| et -1
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A. st |. aJ% arsne ud forala

B. dfaw I, Fumcia gitfiseamoitcr vd aRrEmE o1 swaiaun

C. =@y 11, @ffaes i, o amE iz gea gfaeuat

D. sicrfedir V. Termefier gfafasneliera sz Aftaem webtoor

ofta v =1 fraseal & I = sav ofenw .

[Question ID = 1617][Question Description = 52_qSNz_PG_LBW_Q69]
1. A-LLB-ILC-,D-I¥V

[Option ID = 6465]
2. A-NL,B-IV,C-1,D-11

[Option ID = 6466]
3, A-IV,B-N,C-Il,D-I

[Option ID = 6467]
4. A-1I,B-1,C-1v,D- Il

[Option 1D = 6468]
Correct Answer :-
®« A-|,B-ILC-UL,D-1IV
[Opticn ID = 6465]

70) Match List | with List [l

List | List Il

|. The Building and Other Construction Worker's
A, Committees |(Regulation of Employment and Conditions of
Service) Act, 1996

B. Expert Il. The Child and Adolescent Labour (Prohibition and
Committees Regulation) Act, 1986

C. Safety

: Ill. The Mines Act, 1952
Committee

D. Technical
Advisory IV. The Factories Act, 1948
Committee

Choose the correct answer from the options given below:

et -1 Bt 3t -1l A @R iR

et -| i -1l
@ |, sral wd e Alcaator wEEm (AsEm of sk vd
A, e
orar - ont), 1996

Il. axt vd feeliz o (gicer vd fTafsree) aftferm,

B. fargvast it 1986

C. Fzen wfifea Ill. Fmer arfirforzrar, 1952

D. epsiidst acssr
rfdfer

of o a1 farsedl @ 21 w1l saz giene ¢

IV, rzmamen affiform, 1948

[Question ID = 1618][Question Description = $2_qSNz_PG_LBW_Q70]
T R e | W e s |

[Option ID = 646%]
2. A-ILB-IV, C-1I1, D-1

[Option ID = 6470]
3. A-NL,B-1,C-IV,D-1I

[Option ID = 6471]
4, A-I,B-N,C-1,D-1

[Option ID = 6472]

Correct Answer :-
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& A-1,B-U,C-1V¥,D-1 Your Personal Exams Guide
[Option ID = 6469]

71) Match List | with List I

List I List 11

A. Ivan Pavloy I. Social learning theory
B. B, F. Skinner I, 5-0-B-C Model

C. Alberta Bandura |III. Classical Conditioning
D. Fred Luthans |IV. Operant Conditioning
Choose the correct answer from the options given below:

I -1 B 3t -1l 2 gAfera Bifw

et -| et -

A. sdrel Ucild |. wraferr sif2em o Rigia
B. dt.uw ¥blaz 11, ozr-3it-d- 241 aifser

C. arcreet degm I, or=<ir aracpeTa

D. & steH V. siia¥oc siapayerer

iR o a1 famsedl & 21 w1l saz gione ¢
[Question ID = 1619][Question Description = $2_qSNz_PG_LBW_Q71]

1. A-IV,B-Nll,C- 11, D-I[Option ID = 6473]
2. A-1,B-1I, C-1V,D- Il [Option ID = 6474]
3, A-IlIl,B-1V, C-1,D -l [Option ID = 6475]
4, A-1,B-1,C-1lI, D- IV [Option ID = 6476)

Correct Answer :-
a A-I¥,B-Nl,C-1l, D-1[Option ID = 6473)

72) Match List | with List [l

List | List 1l
A, Product life cycle theory 1. David Ricardo
B. Transaction cost theory Il. R. G. Yernon

C. Comparative Cost Difference theory |lll. Dunning

D. Relative Comparative Cost

I¥. Heckscher-Ohlin
Advantages theory

Choose the correct answer from the options given below:

et -1 @ et -1l A AR Fif
et -1 il

A. Frarg siad - @=p o g (Qisac s Ao =) |. 3fts st

B. giaaoia wize firgia Il, amz.sit. awita

C. goaras Jca iz @l Bigia (oanika ohe Bwia =idl) |, sgfist

D. Tmifea oaliRa sizc gsaies sari IV, zaz - sl

iy v sre faseal 3 31 1t 3w giew

[Question ID = 1620][Question Description = $2_qSNz_PG_LBW_Q72]
Toodos W Bs D1 Cs IV, D=1

[Option ID = 6477]
2. A-LB-ILC-1L,D-IV

[Option ID = 6478]
3. A-NL,B-1,C-11,D-1V

[Option ID = 6479]
4, A-ILB-I¥, C-1,D-1I

[Option ID = 6480]
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Correct Answer :- Your Personal Exams Guide
e« A-ILB-1I,C-I¥,D-1

[Option ID = 6477]

73) Match List | with List [l

List | List I

Training techniques |De'scripti0ns

A. Monodrama l. Training with an external perspective
B. Mirroring Il. Insight into a given interaction

C. Skill games |III. Games to test ability to plan ahead
D. Strategic Planners IV. Test to develop analytical skills
Choose the correct answer from the options given below:

2 -1 B 3t -1l A gAfera B

et - | et -1

(gforgor aevefis)  |(Rreror)

A, HicirgrEn |, arar ufgw @ zver Qe

B. Bl Il. siga ursabxr fRn @ soaste

C. Rwa stem 1. 3=t 45t =nsren o e graar aiyamr Jwel B
D. #2frp wnedd ||V, Redaomeass otera ki o & stim

oftar e oo frseal & 7 =8 saw gfew
[Question ID = 1621][Question Description = 52_qSNz_PG_LBW_Q73]

A<, B-1,C-IV,D - Il [Option ID = 6481]
A-lll,B-1v, C-1l, D-I[Option ID = 6482]
A-IV,B-1Il,C-1,D -l [Option ID = 6483]
A-11,B-1V, C-1,D- il [Option ID = 6484]

N S PP . g

Correct Answer :-
e A-1l,B-1,C-IV¥, D- Il [Option ID = 6481]

74) Match List | with List [l

List | List Il
Theory of group Characteristics
formation

A. Propinquity

|. Activities interactions and sentiments
ttheory

Il. Similar attitudes towards commonly relevant

B. B h
alance theory objects and goals

C. Exchange theory |lll. Reward-cost outcomes of interaction

}?' segree;Homans V. Spatial or geographical proximity

heory

Choose the correct answer from the options given below:

2 -1 B 3t -1l 2 gRfea Bifw
et | et 11
(myg forator @1 Pigia) (frdraard)

A, QEIGeIC W1

|. fpand, sie: fogend od straend
Rrgia

B. = o1 By I, FEIGa: Aokt 3291 wd o1gall @ g it

C. Rt mr Bigim I, iR @5 afsvmat @1 giirea &=

D. it enie @1 Bigia IV, Fforme (sreprefia) aremn siisiiciiar Afcormem
i 2w s1e faescal & 31 w1él 3z gfore :

[Question ID = 1622][Question Description = $2_qSNz_PG_LBW_Q74]
1. A-1L,B-Il,C-1I,D-I¥

[Option ID = 6485]
_ 2. A-ILB-IV, C-1LD-1
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[Option ID = 6486] Your Personal Exams Guide
3. AN, BN Ll Ded

[Option ID = 6487]
4, A-NLB-LC-IV,D-1

[Option ID = 6488]
Carrect Answer :-
o A-LLB-I,C-IIl,D-1I¥
[Option ID = 6485]

75) Match List | with List [l

List | List ||

A. Elton Mayo |. Father of Modern Management Theory
B. F. W, Taylor Il. Hawthorne effect

C. Henri Fayol lll. Comprehensive social system approach
D. Chester Barnard 1V. Principles of scientific management

Choose the correct answer from the options given below:

et -1 ot et -1l 3 ghfer iR

et -| ot -l
A. wooa ARl I. sneyfors ygerm Brgia & s
B. uw.3ecyy o1 Il gienef e

C. Zofl Wit 11, = smEnfies dg @1 efest
D. Avcz woiks Iv. &snfrs yeer & Rigina

i 2w s1e faescal & 31 w1él 3z gfo :
[Question ID = 1623][Question Description = $2_qSNz_PG_LBW_Q75]

A-11,B-1V, C-1,D- Il [Option ID = 6489]
A-1l,B-1IV, C-lll, D- I [Option ID = 6490]
A-NI,B-1V,C-1l, D- I [Option ID = 6491]
A-NI,B-1,C-IV,D -l [Option ID = 6492]

N O PE N o Y

Correct Answer ;-
o A-I,B-1I¥,C-1,D- Il [Option ID = 6489]

76) Arrange the following in sequential order from the beginning to the end so far as the procedure for implementation of
Certified Standing Orders under the provisions of the Industrial Employment (Standing orders) Act, 1941

A, Draft Standing Orders submitted by the Employer to the Certifying Officer

B. Modified copies of the Standing Order submitted before the Certifying Officer if required

C. Copies of the Standing Orders communicated to the Employer and representatives of workmen
D. Implementation of Certified Standing Orders

E. Application of model Standing Orders

Choose the correct answer from the options given below

sfienfEm fordiser (vamht amgon alrm 1946 & gratne & siceta ganiom Ferfl angell & Roasase 2q giRoznsii ot 3y A 3ia @o &
oy # forseiop saatiera o -
A, ToRIDT ZI2l gaIioTd Af2enrdl @l greeu TRl 311891 Yga Dol

B. zurft snent &t Henfira gferT gamrer aiftrerfl & zrwer, afe smiféa 3 yeega 6 airedt 2
C. Terh sl HI gREAT B! aer caer & gRIBRET B TR)fd & sud 2

D. gaiora Ferrit ameell oI SRIicaRIcl

E. ancol zemeht sucoll ot srgqyeireT

ofia 2w s1w faascal 3f 2 718 3me 9ol ©

[Question ID = 1624][Question Description = $2_qSNz_PG_LBW_Q76]

D, A, C, B, E [Option ID = 6493]
E, A, C, B, D [Option ID = 4494]
A, C, B, E, D [Option ID = 4495]
C, B, A, E, D [Option ID = 6496]

N FU T o e

Correct Answer -
e D, A, C, B, E [Option ID = 6493]
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77) Given below are the different steps of process of learning. Arrange these from beginning of the prodessitdtreendl Exams Guide
A. Assimilation or retention

B. Acquiring knowledge

C. Internalization of new knowledge

D. Application of new learning

E. Self-monitored learning

Choose the correct answer from the options given below

sifeera & gfigean @ Rifear aeor ofia Ru sre ¥ 368 g A siftw aw waeg ©3 :
A. ACHAATILSIOL AT FHIOT

B. smorasrdt qra wen

C. aF swerasdt wr atabydbiaor

D. oo sftstar o gaier

E. ¥ - abydliféia st

ofta R o1e Rraseal 3 3 =& 30w gdl ©

[Question ID = 1625][Question Description = 52_qSNz_PG_LBW_Q77]

D, E [Option D = 6497]
D, E [Option D = 6498]
, C, E [Option ID = 6499]
c

Correct Answer :-
e A B, C, D, E [Option ID = 6497]

78) The career management process can be sequenced in five stages, Arrange these stages from the beginning to the end
A, Strategy

B. Assessment

C. Planning

D. Development

E. Evaluation

Choose the correct answer from the options given below

wiwr gegm giten o) aim aevil 3 apeg Rewr oo awar § qrRidee 3 it @& wa # 508 aumag o8 !
A. umilin

B. oo

C. dasmn

D. ko

E. scaicwot

ol f8u a1e Rrpodl d 31 718t 30 ool :

[Question ID = 1626][Question Description = $2_qSNz_PG_LBW_Q78]

. A, C, B, D, E [Option ID = 6501]

1
2.
3.
4

A
B
A

1

1

» E [Option ID = 650%]

B,C,D
A, D, E, C [Option D = 6503]
, €, E, D, B [Option ID = 6504]

Carrect Answer :-
s A C,B,D, E[Option |D = 6501]

79) Arrange the four levels of training evaluation from the first to the last as given by Kirkpatrick :
A. Reaction

B. Results

C. Job behavior

D. Learning



WWW.prepp.in .repp

Choose the correct answer from the options given below Your Personal Exams Guide

gfotem feeiichel @ O FI2 ©f Souled © AR Y A 3ifts oo oaeg B |
A. gfefo

B, ufwrma

C. orl amawm

D. aRfeEm

i 2w s1w faaseal 3f 2 718 302 9ol ©

[Question ID = 1627][Question Description = $2_qSNz_PG_LBW_Q79]

1. B, C, D, A [Option ID = 6505]
2. C, B, A, D [Option ID = 6506]
3. D, A, B, C [Option ID = 6507]
4. A, D, C, B [Option ID = 6508]

Correct Answer :-
e B, C,D, A[Option ID = 6505]

80) Arrange the different phases of strategic planning in multinational firms starting from the beginning to the end :
A. Strategic business units

B. Entry and participation strategy

C. External and internal analysis

D. Organisational structure, control and coordination mechanism

Choose the correct answer from the options given below

agIedi yfereorell # wieliftes disen & fafiee awil @) grfire 2 sifan & o § 3emd
A, wRlifers wrawr soEat

B. qaora FasnfEar &1 sureiifen

C. ara a awifys fmeya

D. FogolcHs Hidel, oA d JAwea=

i 2w s1w faascal 3f 2 718 302 9ol ©

[Question ID = 1628][Question Description = 52_qSNz_PG_LBW_Q80]

. C, A, B, D [Option ID = 6509]
A, C, D, B [Option ID = 6510]
B, D, A, C [Option ID = 6511]
D, B

1
2
3.
4. D, B, C, A [Option ID = 6512]

Correct Answer -
e C, A, B, D [Option ID = 6509]

81) Arrange the following Indian Trade Union/Organisations on the basis of their founding year from the earliest to the
latest

A, United Trade Union Congress

B. The Red Trade Union Congress

C. The Textile Labour Association of Ahmedabad
D. Hind Mazdoor Sabha

E. Self Employed Woman's Association

Choose the correct answer from the options given below

foramifcil¥anT gpa FiE / o106l Wl oI FATUH au @ MR U YREKE 3 i o oaeg W
A, Jomrsts g3 glorIol wiska

B. g 35 ¢3 gforaa o)
C. T tawresd daz vAllieed 3w e

D. fée #eigE I
E. 3iow vewiias fadea aifiwome



WWW.prepp.in .repp

siia R s1e Rrosedl & 3 @& a7 gai : Your Personal Exams Guide
[Question ID = 1629][Question Description = $2_qSNz_PG_LBW_Q81]

1. C, B, D, A, E [Option ID = 6513]
2. A, C, D, E, B [Option D = 6514]
3. B, C, A, D, E [Option ID = 6515]
4. E, D, C, A

Correct Answer :-
e C, B, D, A, E[Option ID = 6513]

82) Arrange the following phases of internationalisation from the first to the fourth phase as identified by Adler and Ghadar

A. Domestic

B. Multinational

C. Global

D. International

Choose the correct answer from the options given below

usoR 31z 6357 R A 9 ustna @ AR afoRan siriiRrns & ool @) uscr A 9id © oa d caaleaa o3 .

A. ¥
B. agasda

C. dfas

D. sierefed=r

oA 2w o1e Repodl 3 A 7t sar il ¢

[Question ID = 1630][Question Description = $2_qSNz_PG_LBW_Q82]
1. C,D, B, A

[Option ID = 6517]
2. A,C,D,B

[Option ID = 6518]
3. A,D,B,C

[Option ID = 6519]
4. A,B,C,D

[Option ID = 6520]
Correct Answer -
« C_ D B A

[Option ID = 6517]

83) Arrange the main schemes of Workers Participation in Management according to their year of formation from the
earliest to the latest

A. Joint Management Councils

B. Shop Councils

C. Board-Level Participation

D. Institution of Employees’ Participation in Management for Public Sector Undertakings
E. Works Committee

Choose the correct answer from the options given below

wmsnA & gaee # seficrd &t gwa disonsil o sord Beifor & ad © sgmr aad A siftm o5 o 3 wrafien o7 -
A. wiaes gater afyag

B. wrionen afyag

C. & - raz & glennBrar

D. wrisfors 8l @ yogpil © e gaee i wdafyl 6 gftenPBrar 3g dvend

E. wrt afafa

ofta e =1 Rraseal 3 31 78t 30w gl :

[Question ID = 1631][Question Description = 52_qSNz_PG_LBW_Q83]
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C, B, D [Option ID = 6521] Your Personal Exams Guide
D, C, A [Option D = 6522]

, A, B, D [Option ID = 6523]

, D, C, B, A [Option ID = 6524]

N L T L s

Correct Answer :-
e E, A C, B, D[Option ID = 6521]

84) Arrange in sequence the following legislations in order of their years of enactment from the earliest to the latest
A, The Minimum Wages Act

B. The Payment of Wages Act

C. The Payment of Gratuity Act

D. The Payment of Bonus Act

E. The Equal Remuneration Act

Choose the correct answer from the options given below

uzdl A it @& a3 BooiiciRaa Rensl o sorcd aftiBrerms & adf @ agear cafdan @3 :
A. o e sifiderm

B. smigél Fer sififere

C. 3ucre ¥gr siféderaa

D. e For bR

E. wom uifebre siffform

ol B =1e Repedl 3 3 318t 302 9ot ¢

[Question ID = 1632][Question Description = $2_qSNz_PG_LBW_Q84]

E, D, C [Option ID = 6525]

, D, C, E [Option ID = 6526]
E, D, C [Option ID = 6527]
D, A

1
2.
3,
4. E,C, D, A, B[Option ID = 6528]

Carrect Answer :-
* A B, E, D, C[Option ID = 6525]

85) Arrange the committees/commission in sequence from the latest to the earliest, as per the year they were set up
A. Roval Commission on Labour

B. National Commission on Labour

C. Standing Labour Committee

D. Labour Investigation Committee

E. Bihar Labour Enquiry Committee

Choose the correct answer from the options given below

TGl @ a9l @& AefHIE Uscl 3 3iliA @ A 301 Afdiferl / srediell ol caaléed «1 -
A, et o ARIET

B, sl o 3=l

C. ruril g afdifa

D. g wita afdla

E. feer o Sia afdfer

oifer o are fomseul 3 31 78t 3ae 9ol @

[Question ID = 1633][Question Description = $2_qSNz_PG_LBW_Q85]

1. C, B, D, E, A [Option ID = 6529]
2. B, D, C, E, A[Option ID = 6530]
3. E, B, C, D, A[Option ID = 6531]
4, AE,D,B

Correct Answer :-

« C,B, D,

E, A [Option ID = 6529]

, C [Option ID = 6532]
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86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason RYour Personal Exams Guide
Assertion A: Financial inclusion is desirable to help the weaker sections of the society in the country
Reason R:  Investment activity needs to be promoted to facilitate access to development benefits

In light of the above statements, choose the most appropriate answer from the options given below
oA &) weror Ru s1w ¥ : ww afdroaer (A) © wa 3 fRifRaa 3 o goaw 3ad oo (R) 5 wa # :

siffreperer (A) @ Rl sadiersr 291 3 wars & waslz =1t 6 Fsam & e aieola 3

asrzor (R) : Rrpra @ ol aw ada et goret @ e fBrdier Fdelt Rymnavanal o aerar R sren aifde
IR wyell @5 areld #, okl Rv siv Revedl # A A9 oy 307 o 996t Sifsre :

[Question ID = 1634][Question Description = S2_gqSNz_PG_LBW_Q86]
1. Both A and R are correct and R is the correct explanation of A/{A) sfiz (R) St = & 4= (R), (A) & =2 = &

[Option ID = 6533]
2. Both A and R are caorrect but R is NOT the correct explanation of A/({A) sz (R) 3= ot & weoeg (R), (A) B w6t oo o

[Option ID = 6534]
3. Ais correct but R is not correct/(A) 3t 2 momg (R) =t =i &

[Option ID = 6535]
4. Ais not correct but R is correct/{A) =it =it & wiag (R) = 2

[Option ID = £536]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) iz (R) =i =8 £ 5fiz (R), (A) & =8 woz=n &

[Option ID = 6533]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Intra-mural and extra-mural welfare facilities in organizations are mutually complimentary
Reason R: The work-life balance needs to be ensured in order to get the best cutput from an employee

In light of the above statements, choose the most appropriate answer from the options given below

ofiY 31 e Bw s B ) weop aifdroerE (A) @ wu & Rifdaa 2 &t g sus @ (R) & =a #

sifirperat (A) : o4l 3 iy s ar@ ooamn Fiaas Uiz Ay okl &

w11 (R) ¢ Kol watarél A asiffrepad ameeye yia ®ra @ fee orl iz oflaa & dika dAgerer gisiaa fosen e mide
IURITE Bl © AlCIkD A, A 4T e fecdl # 3 AG3 IUYTs a2 ®f gdd DI |

[Question ID = 1635][Question Description = $2_qSNz_PG_LBW_Q87]
1. Both A and R are correct and R is the correct explanation of A/{A) afis (R) S =t £ 4z (R), (A) & =t o 2

[Option ID = 6537]
2. Both A and R are correct but R is NOT the correct explanation of A/{A) & (R) o= =2t & memg (R), (A) D =t smecm =t 8

[Option ID = 6538]
3. Ais correct but R is not correct/ (A} =igi & usoyg (R) 21l ol &

[Option ID = £53%]
4, Aisnot correct but R is correct/ (A) ot ot 3 womrg (R) =t &

[Option ID = 6540]

e Both A and R are correct and R is the correct explanation of A/(A) Jfiz (R) S 2 & A (R), (A) & =t =ome=n &

[Option ID = 6537]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Structural inertia is an organizational resistance process to change because organizations have a built-in

mechanism to produce stability
Reason R: People with a high need for security are likely to resist change because it threatens their feeling of safety

In light of the above statements, choose the most appropriate answer from the options given below
ofr 3 ora 2 s § 1w atfdrperat (A) @ wu 3 ffiaa & & gz sus wrm (R) D =a #

sfirpera (A) | Fiweicad sisva kbl acama & gl Jieoencare gfarizr bt giioar & a=iifes Ferocll o Berar aror © R dgi o1 fomrivr Reen
F

zsrver (R) : e @ T wisT ad dell Fi acara @ gitdier avsor ff affrs Feirron Sl § w4y swe sorbt gren &t siraen oY Faw
13| i3

FRITE Wil B ke 3, ik B e RKoodl d A A9 IR 7R w1 gad Gifs ¢

[Question ID = 1636][Question Description = $2_qSNz_PG_LBW_QB88]
1. Both A and R are correct and R is the correct explanation of A/(A) Jfiz (R) S5 28 & Jfw (R), (A) & = oomeen &

[Option ID = 6541]
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| 2. Both A and R are correct but R is NOT the correct explanation of A/ {A) &y (R) S 38 & qseg (R), (A) & w8 o @@ Your Personal Exams Guide

[Option ID = 6542]
3. Ais correct but R is not correct/(A) =1t 2 ueog (R) =it =i &

[Option ID = 6543]
4. Ais not correct but R is correct/{A) 3t =2 8 wisg (R) = 2

[Option ID = 6544]

Correct Answer ;-

# Both A and R are correct and R is the correct explanation of A/{A) #fiz (R) St == & sfiz (R), (A) & = = &
[Option ID = 6541]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: It is one thing to hold that the role of the state should be minimal, and quite another to held that industrial
relations should be based only on bilateralism

Reason R: Bilateralism is an essential ingredient of industrial relations and both parties should rely on it as far as possible. But
it cannot be denied that there is a role that mediation, arbitration, adjudication or third party intervention can play to
ensure industrial peace with justice to both sides and to the society

In light of the above statements, choose the most appropriate answer from the options given below

oA &) weror Ru s1w ¥ : wws afdroae (A) © wa 3 fRifdaa 3 ar goaw sad oo (R) 5 =a ¥ :

sfdreperst (A) @ o aad us 3 By wsa &t syt syeraa Befl aifde, iz gaw od as B Ry sneifPro Feer daa fagrars ui snenfya o wifde

et (R) : fhasrars sianfrs dded of ve amasas mey 2, i Sial sl o1 saas wanzina sdan won aifde afve v3 ara A sorwie oisk
fooan =11 wpdn & [ #easerar, searer, Aol ar dls: agl @ s3A8U Slal usdl iz a1 & gid oarl & e A=NBre onifer giafaa
@30l A sfdret Torem Tsem

IURID el B JAlciiD 3, iy &y 71e frsedl 3 3 Fa IURED 3w @l eRiel HIfsg |

[Question ID = 1637][Question Description = 52_qSNz_PG_LBW_Q89]
1. Both A and R are correct and R is the correct explanation of A/(A) diiz (R) si=f =8t £ iz (R), (A) &t 38t =n=n 2

[Opticn ID = 6545]
2. Both A and R are correct but R is NOT the correct explanation of A/{A) sz (R) = ot & wooeg (R), (A) B w6t oo ik 2

[Option ID = 6546])
3. Ais correct but R is not correct/(A) 5t 2 momg (R) =t =i &

[Option ID = 6547]
4. Ais not correct but R is correct/ (A) =8t =i 2 womg (R) =2t 8

[Option ID = 6548]

Correct Answer :-
#a Both A and R are correct and R is the correct explanation of A/(A) afiz (R) S =t & dfiz (R), (A) &£ 2= snomn 8

[Option ID = 6545]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Attitudes of confrontation must give place to an attitude of genuine partnership

Reason R: Organizations of workers as well as employers, and the state itself, should identify and create the conditions on
which harmonious relations that we need can be created and maintained

In light of the above statements, choose the most appropriate answer from the options given below

of) €1 ora 2u s § ¢ uep atfdrperst (A) @ wu 3 fif¥aa & & e sus wrewm (R) D =a 3
sifirmerat (A) ;| AAHeN S @ zftcmiun Bl Bism: acdl uElicl @ zfte®ivt agsrRn e mfge

@orzd (R) ; DeEmI iz orRToRil © Hewel dilz a3 7=a oI W Reaftr &1 ueana aiiz 3o e oon aifze foeri & i agraget Agen
DI FYoTol BT JAD AT Jod Foll§ T HD

IORGT WUl 95 el #, i B se Reoedl # A waA sag s o gger Sifsne ¢

[Question ID = 1638][Question Description = $2_qSNz_PG_LBW_Q9%90]
1. Both A and R are correct and R is the correct explanation of A/{A) diiz (R) si=f =8 £ &z (R), (A) &t 38t =ne=n 2
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[Option ID = 6549] Your Personal Exams Guide
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) St 38 8 woeg (R), (A) &1 38 ey a2 8

[Option ID = 6550]
3. Ais correct but R is not correct/(A) =it 2 ueeg (R) =8 =i &

[Option ID = 6551]
4. Ais not correct but R is correct/ {A) =it =it & woag (R) = 2

[Option ID = 6552]

Correct Answer ;-
® Both A and R are correct and R is the correct explanation of A/(A) iz (R) =i =8 £ sfiz (R), (A) & =8 woo=n &

[Option ID = 6549]

Topic:- LabourWelfare_SHAAN_NOV21B

1) Read the passage carefully and answer question:

Following the latest trends and being fashionable is the ‘in thing' these days. This fad is not only prevalent in clothes,
accessories, home decor and every conceivable thing, but also in attitudes and behaviours. These days being rude, loud,
intolerant, and aggressive is "COOL". Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and
regressive.

Increasingly, the world is becoming 'I' centric, Everyone believes and follows the principle of '"ME' and '"MYSELF' above 'YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online, Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society. Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul.

forraiferiian srerior &1 taergde U 3tz offar 2w s1e gra 1 3z €

AEeITciel YgirRil 1 o[0T Dol AT Bolorael Bloll ATsbel dge HI® actol I B U6 Hold dad HUS], UMD AT sl Al azgall ao
& B wfl 3, aftw ancrzon s saaee 9 o Rand asiit 3 soerova afdree, arasar srsaeltar iz sicgiores 815t @t "oyer” Ao Siven 3 Al @S
orid, foroe 3z FEH &7 o0 aren &, A 32 dlsT oIy, siiar - yren sz fssT oea &

fara 1 "Huz S Blen g o w E 5 B ER dir "Y' & frgia ¥ o zEor @ # e 391 amudht” s Va3 siféres sera Sar
g ool @ dia Sow: @7 -ar BYa dma s, caed & el az earer o1 Jaw, wierha @ da caw ugan, wrdsfere Fona o7 BYa 9z M - S A

anTia e, di A5 a3 F1E W3 o3 Sl 3 Borawey Sl arcll T srRIasen Uz ena o ot, Hierd fiEar uz altRr sase @ siie
T5h UT ARDIAGA [GFII6 - Tol Tafl DI ATehd AT WIGele Aol A 8

2013 @ v Td # arzn 7r0 [ 3 - J32 sa o gul # Alerd Az yier agdr 311 8, afdrsedr & oot ageil 515 2 2698 ciell 3 78
gierera of aarn Ry siierensa sifdrear A giy g 3 FHtera #iifE=n 3 arfdrse st 9 giy 5 8 ofi woma A sigm, e oz FgmIR @1 dlg aian
oI 51 & o 314 U g O ] - Widel oidl ekl &, il Fsa: oita, Al iz afdree e afPre smara € g &t ant ag & & seoila o
arar ewor, srasorolier vk, syprr B sz sufeal @t dior s B maw & o8 §

In order to be fashionable and cool these days, one has to be:

MIaldel ' Dloigel 3z 'l Bldl @ few SAfiTh @l Blell U E ¢

[Question ID = 1639][Question Description = $2_qSNz_PG_LBW_Q9%1]
1. Dressed in latest fashion/aneea okl @ B0 Ggolol Il

[Option ID = £553)
2. Intolerant, ill-mannered and aggressive/ smsmsiiern, aoerrr b aREErs

[Opticn ID = 6556]
3. Knowledgeable/saa=

[Option ID = 6554]
4, Funny and friendly/ seempi iz Rrpmgof

[Option ID = 6555]
Correct Answer :-
® Dressed in latest fashion/sepmm Som @ T Ugem awn
[Option ID = £553)

2) Read the passage carefully and answer question:
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Following the latest trends and being fashionable is the 'in thing' these days. This fad is not only prevalentduclethesnal Exams Guide
accessories, home decor and every conceivable thing, but also in attitudes and behaviours. These days being rude, loud,

intolerant, and aggressive is "COOL'. Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and

regressive.

Increasingly, the world is becoming 'I' centric. Everyone believes and follows the principle of 'ME' and '"MYSELF' above "YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online. Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society. Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul.

Rrraftitiaa stener @t saergde ug sz R sw pa or 7z & ¢

ME[ATIE YRR 1 3630 3ol 3T B SIT 3IsKpa a5 iten aaa A T a8 Ao dad wusl, JUDI AT S[eHssT Sl ail Mo
& Hifda ordl 3, afew s sz cerger 3 off Read osedl 2 st arfdree, sy aragonefla aiiz anplards €6l @ "ol Ao AR 8 A o
otiv1, Torse iz wem wr o1 aren 3, o 3A et aqEw, siten - sien sy Rrosr wea §

e oot "W az B St wear s IE § wr oK "Ed” i "R @ Brgia # fearer @6 asn ¥ i 33 "smadst” i Vsmads” A aiffre weva S
Z <Pl @ it dom: 91 -ar Bl ¢& e, G ol aril U £4Id ol 4oll, dldiil & it eu® Ussell, sl T8t Uz Bld U2 |l - iz A
graita avsen, @ta Az gz sndt @S @y o iz warara Ser arcll T srarear a3 suaer & Son, Aterd fifYar a3 sftpr s aven iy

ST U ARDIADGHI IREmell - o1 J3 Ol AeKea AR RIGeR A ST &

2013 @ v 31 3 urn e B SiA - S el o adt 3§ Alera dif¥ars geist agan ern 8, afdmenr 6 acond agedt o § 2698 o=l & 78
gferera of aar i siforenzal afdreeen 3 gl g% 8 wrera i 3 afdrse ameron & giy g2 2 ofiz @ama 3 agrn, Breear aiiz sz T dla 2
S 351 & ST 3 U0 g B A6 - W oidl okl 3, <l e oila, 3R 3iiz afdre gien aRro smara & g &t ant a § o sroila wa
ATEN AV, AEsetefiel Hle, peRs H@ iz snferdi & dior awar & gus 8l o &

We are becoming increasingly rude because:

zardt afdreean aadl = @ & a=iie

[Question ID = 1640][Question Description = $2_qSNz_PG_LBW_Q92]
1. We like being rude /=3 aifdre Zon usis &

[Option ID = 6557]
2. Social media encourages such behaviour/ Ztor Biff=n 5 amen o e 3m 3

[Option ID = 6558]
3. We are subjected to modern day stresses/an amgfers @1 & aong I 3371 871 &

[Option ID = 6559]
4, We are not concerned about others feelings/=9 g3 &t smrmmsil o goms = &

[Option ID = 6560]

Carrect Answer :-
o We like being rude /it atftree Zer usic

[Option ID = 6557]

3) Read the passage carefully and answer question:

Following the latest trends and being fashionable is the 'in thing' these days. This fad is not only prevalent in clothes,
accessories, home decor and every conceivable thing, but alse in attitudes and behaviours. These days being rude, loud,
intolerant, and aggressive is "COOL'. Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and
regressive.

Increasingly, the world is becoming 'I' centric, Everyone believes and follows the principle of ‘ME' and ‘MYSELF' above "YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online. Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society, Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul.

foramteitian serior o1 saegde ug Mz sl Ru s pa wrsaz 3 2
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3eJelicel YgiviRal b1 AG[FII0T DIall 3T Hemiad Bl eI dad s oo A & 26 Holb dad ®us, mﬁaﬁimﬁ%{r&ﬂrﬁaﬁ%qms Guide
& Hifda ordl 2, afew s s cerger 3 off e usedl 2 ansteva arfdree, ey araeoreflar aiiz anapiards €6l @) ool AN AR 2 A o
oria1, Tre 3fiz FEa @ 7501 aren &, A1 33 et oy, sien - el 33 Rest oe 3

fora w1 "Huz DR ger g sn @ E 5 wE U 3 "I @ Rigin o Rrar 36 gen § Al 39 amah” sz Vamaen” A aifro Aera 3an
2 ol @ dla Godz 9 -ar Bl $Id g, G &l aKdl Gz £AT67 of Soll, alddld @ di cu® Usoll, HMsIeId Tl U2 Blel U F1T - T A
grita aveen, dta Fse gz snst @S @y e iz warara Sor arcll T seerarar a3 suaer & Son, Aterd fifYar a3 sftwr s avwen iy

HST U ARGRERGAI 6 - o1 il 1 arasa ARied RIaeR A6l AT 8

2013 @ vp w1d 3 urn arn 66 53 - 5131 el o aul # Hlera AifEarme g=ieT agm sr 8, sifersedr O acard ageit o5 2 2698 alell # 78
gferera 51 aenen Ry siforensar afdreoen # gfy 58 & Ao #ifwn A Afdree smazor o gy 5% ¥ sz wam A s, Brecar siiz Feran? o @ta i
S 351 & ST 34 U0 g B MG - W oidl okl 8, <l FMa: oita, 3R 3z afdre gien aRro snaa & g Ot ant a § o sroila wa
AT eI, JHcorelie HE, s H@ iz nfcrEl &t disr srca & TR 8l 3 &

What is NOT included in identification of a low profile individual?
HEHA T g0l ardY sl o1 ufyerT forafelian # A foad aft Rar siwan 2 ?

[Question ID = 1641][Question Description = $2_qSNz_PG_LBW_Q93]
1. Regressive/fumst

[Opticn ID = 6561]
2. Sissy/oEms

[Option ID = 6562]
3. Attractive/anedes

[Opticn ID = 6563]
4, Simple/yiter - s
[Option ID = 6564]
Correct Answer :-
» Regressive/fOgsT

[Option ID = 6561]

4) Read the passage carefully and answer gquestion:

Following the latest trends and being fashionable is the ‘in thing' these days. This fad is not only prevalent in clothes,
accessories, home decor and every conceivable thing, but also in attitudes and behaviours. These days being rude, loud,
intolerant, and aggressive is "COOL". Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and
regressive.

Increasingly, the world is becoming 'I' centric, Everyone believes and follows the principle of '"ME' and '"MYSELF' above 'YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online. Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society. Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul.

forraiferfian srerior &1 taergde U aiiz o Re sre gra a1 3wz €

AeeITcsl YaltRil o o[0T Dol AT Boloel Bloll ATsldbel dge HI® actol I B A6 Hold dad HUS!, IJUDI AT saHesl Al azagall ao
& 0B wfl 3, aftw ancrzon S saaee 9 o Rand asiit 3 soerova afdree, arasar sirsaeltar iz sgores 15t @t "oyer” Ao Siren 3 Al w1
orid, foroe 3z FEH &7 o0 aren &, A 32 dlsT sIyA®, sl - uren iz fUss oea &

fara @1 "#'uz S Bl Sear A1 @ § g B R o "W & Rigia ¥ fovar raa @ § i 391 amadst” afi Vamas” 3t arferes mewa San
g ool @ dia Sow: @iz -ar BYa Sma wsen, gaed & el gz earer o1 Jaw, wieha @ d caw uzan, wrdsfere Fonar o7 Bla 9z M - S A
anTa @wa, di A5 a3 F1E W3 o3 S i Gorawey dial arcll T srRIasen Uz ena o ot Hiert fiEar uz altRr sase @ siie

ASE UT ARGAGAI REi6 - Fo1 1l @) Ard ATHIGT SIaEz A6 A 8

2013 @& uo Td 3 urn IR o 3 - [ s g qdl # Alerd MAfamer geieT ae 311 2, Afdrecdr D teend deedl s 8 2698 el #f 78
gierera of aarn Ry siierensa sifdrear A giy g 3 FHtera #iifE=n 3 arfdrse st 9 giy 5 8 ofi woma A sigm, e oz FgmIR @1 dlg aian
oI 51 & o 314 U g O ] - Widel oidl ekl &, il Fsa: oita, Al iz afdree e afPre smara € g &t ant ag & & seoila o
arar ewor, srasorolier vk, syprr B sz sufeal @t dior s B maw & o8 §

What is NOT considered as a part of normal behaviour these days?
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sirsreper forastfeia 3 A e aens wrasr o Brar of sen swen 3 7

[Question ID = 1642][Question Description = 52_qSNz_PG_LBW_Q94]
1. Following the traffic rules/Zfwr frE o1 wom ©n

[Option ID = 6565]

2. Talking loudly over phone in public place /Srdailers Fo0el U T OF S - SiF 2 A Tl
[Option ID = 6566]

3. Being nasty on social media/Hier Bif2en a iU =rEe ween

[Option ID = 6567]
4. Mot listening to others/gzEt ot am@l @ s o San

[Option ID = 6568]

Correct Answer :-
® Following the traffic rules/Zftwr Prel w1 woer o

[Option ID = 6565]

5) Read the passage carefully and answer question:

Following the latest trends and being fashionable is the 'in thing' these days. This fad is not only prevalent in clothes,
accessories, home decor and every conceivable thing, but also in attitudes and behaviours. These days being rude, loud,
intolerant, and aggressive is "COOL', Anyone who is quiet, polite and keeps a low profile is labelled a sissy, simple and
regressive.

Increasingly, the world is becoming 'I' centric. Everyone believes and follows the principle of 'ME' and '"MYSELF' above 'YOU'
and YOURS'. Checking the phone repeatedly when in company, not listening to others, interrupting a conversation, talking
loudly on the phone in a public place, parking the car in the middle of the road and being unmindful of the traffic chaos,
being nasty on social media, aggression on the road is all a part of normal behaviour these days.

A 2013 survey found that as social media usage surged over the years, it has given rise to increasing cases of incivility; with
78 per cent of 2698 people reporting an increase in rudeness online, Social media has brought about an increase in bad
manners and loss of courtesies, decency and etiquette in society. Perhaps, it is easier to be mean, and rude when one is
not in a face to face interaction with somebody. Sadly, appaling behaviour, intolerant views, a good dose of abuse,
aggression and expletives thrown in, have become fodder for the soul,

forraiferiianT srerior &1 taergde U aiiz offa Re sre gpra a1 31z €

teITciel YRl &1 JGRI3] &¥oll iz Heloidd Blol alfsldd dga i adol 3 8 718 ol dad ®Usl, JUDII 3T JJaHesll Al az:il ab
3l 3o sl 2, aftw o 37 caaeR 4 51 Rend usrdl 8 amsroa aifdrse, 3R sl 3iis ARGIRD Elol I "Gl A Ikl & Al R
oricl, Toree sliT FIed @5F FEoY aren 3, i 33 AT ogA®, siien - siren 3 fssT @ea §

Rrea o1 WUz BRA Aol 9T T TR 8 B R AT A D Bigia A Qe TErer aen B iz 33 "anud” iz arad” 3 aftes weed San
g ool @ dia Sow: wir -ar BYa S wsen, cadl & el gz earer o1 Jaw, wioha @ d cow uzan, wdsfere Foara o7 BYa 9z W - S A
AR Doll, Hd AT UL 0S5 TEL 2 Goll 3T Baraad glol aic Eibeh JeIasell Uz el | odl, e f3ar uz sl waer oo sz

TS OF ARG AT REner - sor 7l 251 AeRra AMe WIAsE A6l SIar 8

2013 @ wor wd 3 arn srar 75 S - 5 foed e adl J§ Aeer MiEarest galer aea e 8, sifdreear @ geond ggelt o1 2698 el # 78
gierera of aarn Ry siierensa aifdrear # giy g 3 FHtera #ifE=n A aifdrse amaeor 9 giy 5 § ofiz womar 3 sigm, e oz FgmIR @1 dlg air
ST 781 3 o7 21U U g3t @ A1l - el ol 31 3, At deraa: ofta, sif@ iz sifdree dlen aftrs e 3 g3 Y an a1 3 s wrnfla ooy
A HRRYI, aRtsasia dk, IRpere F@ iz snflerl &t divr smro B g 8 o 3

When is it easier to be nasty?
it slem e 31f2np 3 3 7

[Question ID = 1643][Question Description = $2_qSNz_PG_LBW_Q95]
1. When one meets the other person/sm saftr fvslt 5253 =Rk A Pewo &

[Option ID = 6569]
2. When one is not face to face/om =IRE sEr - JAA o2l 20 2

[Option ID = 6570]
3. When one talks in a group/=m =T T9E 3 9 TFT &

[Option ID = 6571]
4. When one is in a public place /5 @Ifs Adsior e 13 2w 2

[Option ID = 6572]

Correct Answer :-

® When one meets the other person/Tm =ity fvslt oo =ie A Perm &
[Option ID = 6569]
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1) Read the passage carefully and answer questions that follow

'Chanakya Neeti’ is synonymous with efficient statecraft around the world, and Chanakya is India's face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics,

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of. He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcontinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of 'saam,
daam, dand, bhed’ (persuade, purchase/set a price upon, punish, exploit the weakness). His Arthashastra elevates the
state to a position where service to it entails imperatives unknown to morality. Chanakya would have been identified as a
professor of political science and economics at Takshshila. He was an economic, political and royal adviser and a think tank,
and can be credited to have given India its complex united empire.

fermtei¥aa == @ samgde ug iz ofla v s grstl D sme & ¢

‘amTREITRT rar # FLE ssTeRson O O § AT ORI HRE @ ASHeiis YIRORDI 312 $3Rbl grefial 39w @ g&r yuim 2 Reslt gor
bt el BrRireTar TR Ao Joih] YTl &I Jas! Rion hia oidl 2 araa #, Jodl fira o Teelie Brgidl o gaRT owb
e grellar s sfesrr sorbl gwrrsrsen od Asteiferes 3Er - g3 @ Foos @ Rren argof 3

aroraa R oft randde o srad agsmendt eboes Rigramsii A afisa o 208 8, gveq gede o Rifdrse afdva 32 e & qren: golor va Rt
@l BRI BU 2ol @& ugEr 9 d g ciefiors Brgial 3 3ua! san o1él 8, Afteg snuwl Aiael, eemeller ool Te 3isl AUGl & AMBR Bid @&
fere Ofra o3t 2 3odiol Ues ISy ARSA @I 315 3 3WIS Bl 31T dogeH Hd A ud ARG Afts 1 IeREl Uz fAorn Iegiel gl & g
A A U SENE YIS Bl Usdial Bl ¢t i s yor fra ot wr aaet gy s oo Bl sget st susmidla & et od
geraicrs i @ BU I ey

forf2sersa 31 =nvre &t e siannd anfpgd off angfore dftas oesiia 3o Bigha mm, om, ds, W% (arger, o - oo/ I
farertvor, €3, wasz @t oftaor) @ MTH ~urs gordl 3ot "ydonvarey @t T Jand e & suen 3 S8t wreg Ot Ao Siferasar B sragnet J o
AT Sl & VKRR ! Agiiden 3 Jeeifa fise iz seivnsy @ amart @& 7a # amen seen 4 oo sreforsl, Traciitre iz oerbia Icne®m
aen g Riocs 8, Bied s ©1 v sifte wblaya A gerer o1 g R s e 3

'‘Chanakya Neeti' is:

'aAWTERIHIRT 2

[Question ID = 1644][Question Description = $2_qSNz_PG_LBW_Q96]
1. An individual/ws =fRe (cafte) [Option 1D = 6573]

2. A political treatise /s i 3ja [Option 1D = 6574]

3. A philosophy/we guiar [Option ID = 6575]

4. A complex way of thinking/var wiea firer fiix [Option D = 6576]

Correct Answer :-

s An individual/vs =I5 (=ftz) [Option 1D = 6573]

2) Read the passage carefully and answer questions that follow

'Chanakya Neeti' is synonymous with efficient statecraft around the world, and Chanakya is India's face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics,

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of. He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcentinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of 'saam,
daam, dand, bhed’ (persuade, purchase/set a price upon, punish, exploit the weakness), His Arthashastra elevates the
state to a position where service to it entails imperatives unknown to morality. Chanakya would have been identified as a
professor of political science and economics at Takshshila. He was an economic, political and royal adviser and a think tank,
and can be credited to have given India its complex united empire.



WWW.prepp.in .repp

Your Personal Exams Guide
Rraftifiaa s @t saergdes ug iz offa v =10 gl S 3z S

arTREITRT PR # FLE sRTerson T 0 § 3T G HRA @ ASHeiies 9IRIORDI 312 $3Rbl grefiar w9 @ g&r gt 2 Re=lt gor
&t Il orRigeerar amrar a9 Jorbt Yol o AN e Fa ol 2 arraa i, Jedi6! faea ot Ierifas Rigidal @) geier o
R grellar s sfieerr bl swrsrsen od Asteiferes W@t - g3 @ Tooy @ Ryen angof 3

aroraa R oft e o srad agsmendt e Rrgramsii A ofisa o 28 8, gveq grdos o Rifdrse aflia 32 e & grn: geler va Rt
@Dl BRI BU 2ol @& ugtr 9 d g cigfiors Brgial 3 na! sard o1dl 8, Afteg snul HAimet, eemeller ool e sl AUGl & AR Bid @&
fae e e 35l v ASIga S O 9IS A IE0S Wl i asgery ik S oo aensa sl o) weerdl ar Ao 3ssicn ol © was
A A U SEME YIKE Bl Usdiel Bl ¢t 3 s yor fra ot wr aeet Ay s K B dget st susmidla & seefittrr od
qoraicies i & BU I Ygag e

forfcsa 31 =nvresT &t #Areie siannd angd off angfore aftas oeshifa Jord Bigia mm, <m, <s, W (arger, o - taam/ I
forertzun, €3, WHEIR B 9IUUT) & 3N -URA PRl & Foldl o I, @l 33 Hld okp o Skl & slel %G bl Al siferiar bl ara sl 31 a3
#ATGI Sl § VKRR ! Agiiden 3 Jeeifa fise iz seionsy @ amart @& 7a # amen seen 4 o sreforal, Trciitre afiz oerbia Icne®m
aen g Riocs 81, Bred siva o1 v st whiaya A gorer o1 g R snowwrar 3

Chanakya amazes scholars because of;
amva forenfasy @t faver areuil 31 afdha &2 A E -

[Question ID = 1645][Question Description = $2_qSNz_PG_LBW_Q97]

His character/ast =ik 3 [Option 1D = 6577]

His focused aim/aner aférr 3&e= 31 [Option 1D = 6578]

Boring political philosophy/Fars IGrEiftes g€l 3 [Option ID = 6579]

Ability to get people to think, act and achieve their dreams/zirl =1 Jica, ©rf ora 30T 0w I £ T o B @A gora o 3 [Option 1D = 6580]

a2 =

Correct Answer :-
# His character/ammEr @iy 31 [Option 1D = 6577]

3) Read the passage carefully and answer questions that follow

'‘Chanakya Neeti' is synonymous with efficient statecraft around the world, and Chanakya is India's face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics.

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of, He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcentinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of 'saam,
daam, dand, bhed’ (persuade, purchase/set a price upon, punish, exploit the weakness). His Arthashastra elevates the
state to a position where service to it entails imperatives unknown to morality. Chanakya would have been identified as a
professor of political science and economics at Takshshila. He was an economic, political and royal adviser and a think tank,
and can be credited to have given India its complex united empire.

Rrraftifiaa sEnun ot saergde ug sfiz ofla v o1 gl S 3ae S ¢

‘amrRpIR rar # FLE sTeRson o i § AT areRT HE @ ASHeiis YIRORDI 312 $3Rbl grefiar sseaan @ g&r gt 2 el gor
&t Il erRigererar amra a9 Jorbt el Sl AN o FHa ol 2 areaa 3, 358i6! faea ot werifas Rigidal =) gaer o
Rwmarn grhie sweediR sfeer serbl enverson vd IsHIRRE 333 - 951 © Foost @ oo sogui &

awrra el ot fapnfe o sl agrmeht aiffee fidtaani 3 afisa = ga 8, gy g @1 fafdne afdia sty e 4 gy svier od foamd
@l BRI BU 2ol @& ugiEr 9 d g ciefiors Brgial 3 na! san o1dl 8, Aftng snuel Aiaet, ezmeller Sorel e sl AUGl & AMBR Bid @&
fae gfa o  5sial v ASIga S O 9IS | IE0S Wl 3 aegery Ak S oo aensa sl o) weerdl ar Rorn  3ssicn ol © was
A A o SEEME YIKE Bl Usdiel Bl ¢t 3 s yor fra ot wr aeet gy s K Breror sget st sussidia & et od
qenaicies i @ BU I Ygag e

forf2csa 31 =nvre™T &t Ao sand anfpgd off anglfore aftas ooshiia Jord Bigia mm, om, ds, W (arger, o - oo/ Jca

forertann, ©3, WoElR 1 9IUUT) B M -URA Pl & Foldl o I, 1 33 Hdld oKD o Skl & Slel %G, bl I siferir bl ara sl 31 03
ATl Sl & AIVRE ! Agiiden 3 Jeeifa fise iz aeiynsy @ amart @& 7a # amen smeen 4 o sreforal, Traciitre afiz oerbia Icne®m
aen g Riocs 8, Bied wva o1 v st whlaya A garer o1 g o snowwerar 3

In Arthashastra, Chanakya places the interest of the state:

"srefomzay’ 3 amoTaRT IWeg & A o TA F
[Question ID = 1646][Question Description = 52_qSNz_PG_LBW_Q98]
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Below moral responsibility/@ifees siffra 3 & [Option |D = 6581] Your Personal Exams Guide
At par with moral responsibility /3 a1ffira & smesar [Option [D = 6582]

Above any moral responsibility/Fesh diffre o1ifra 31wz [Option 1D = 6583]

The state has nothing to do with moral responsibility /I @1 diffre e1fea 3 i a9eR ol & [Option (D = 6584]

N S PO L ey

Correct Answer :-
o Below moral responsibility /@ siFea Jr &kt [Option (D = 6581]

4) Read the passage carefully and answer questions that follow

'Chanakya Neeti' is synonymous with efficient statecraft around the world, and Chanakya is India's face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics,

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of. He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcontinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of 'saam,
daam, dand, bhed’ (persuade, purchase/set a price upon, punish, exploit the weakness), His Arthashastra elevates the
state to a position where service to it entails imperatives unknown to morality. Chanakya would have been identified as a
professor of political science and economics at Takshshila. He was an economic, political and royal adviser and a think tank,
and can be credited to have given India its complex united empire.

Rrraftitiaa stener @t saergde ug iz ofla 8v =10 gosll B a2 S

amTREITR rayr # FLE ssTeRson o ORI § AR AR HRA @ ASHeiies YIRIORDI 312 $3Rbl grefia w1sea @ gEr gt 2 Re=lt gor
bt el BrRiamereTar TR e Joih] YTl oI Has! o hia odl 2 araa 3, Joell fira o Ieelie Brgidl o gaRT owb
Rz greflor sl sfrer sorebt emrarasen vd sl 3w - oo © Tooe @ o argof 3

aroraa R oft e o srad agsmend e Rrgramsii A afisa o 28 8, gveq e o Rifdrse afdia 2o e & qrn: geler va Rt
@I BRI BU 2ol @ ugER & d g cigfiors Brgial 3 3ua! sand o1dl 8, Afteg snusl HAimsl, eemeller ool ae sl AUGl & AR Bid @&
fere Ofra o3t 2 3odiol U ISIgy ARPSA @I 315 A 3WIS Bl 3T doge Hd AN 0P WG Afis Bl IRl U fAorn Ioeiel gl & g
A A o SENE YK Bl usdiel Bl ¢t 3T s yor fra ot wr aaet gy s o B dget st sussidla & et od
qenAicied o & BU I Ygag e

forfscsa 31 =nvres] &t #raie sand angd off angfore dftas geshiia Iord Bigia mm, om, ds, W (arger, o - taam/ Jca
farerfzor, €3, washz w1 oftgor) @ M ~urs gowdl B Ioreor "y arcy @t I i orr & smen 3 S8t wreg Ot Aan Siferasar & sragns F o
ATl Sl & YRR ! Agiidren 3 Jeeifa fisme iz seionsy @ smart @& 7a # dmen sneen 4 oo sreforal, Traciitre afiz oerbla Jcne®m
aen g Riocs 8, Bied s o1 v st whiaya Anrs gorer w1 g o snowwrar 3

The modern day global diplomacy follows the principle of

anggfores dftam mroiifar fvor Rigial o soaras oxdt 8 :

[Question ID = 1647][Question Description = $2_qSNz_PG_LBW_Q99]

1. Reward, request, entreaty and punishment /gz=eiz, agpi, g i o3 [Option 1D = 6585]

2. Request, cajole, threaten and persuade/ s, rocl, wwdbl 47 sggerrer [Option (D = 6586]

3. Purchase, punish, request and accept/=m - fime, d=, agpn A =eerfa [Option ID = 6587]

4. Persuasion, exploitation, punishment and purchase/sge, siwor, o= A o9 - faga [Optien 1D = 6588]

Correct Answer :-
& Reward, request, entreaty and punishment/qzzer, agRiE, sgE Ak guvs [Option ID = 6585]

5) Read the passage carefully and answer questions that follow

'Chanakya Neeti' is synonymous with efficient statecraft around the world, and Chanakya is India's face of political statecraft
and the rich political understanding of its ancient heritage. No political efficiency is devoid of understanding Chanakya and
his ways of statecraft. In fact, he showed the world that political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics,

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused aim. He was more about
philosophy and thoughts put into action. He does not bore you with his philosophical theory but engages you to think, act
and achieve what you dream of. He overthrew a mighty empire and put in the throne a humble man like Chandragupta
Maurya. He identified the potential ruler from a group of children, thus gave the world a great sovereign who united the
Indian subcentinent into a political and administrative unit.

For sure, Chanakya's mental capabilities were superb. The modern global diplomacy revolves around his principle of 'saam,
daam, dand, bhed’ (persuade, purchase/set a price upon, punish, exploit the weakness), His Arthashastra elevates the
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state to a position where service to it entails imperatives unknown to morality. Chanakya would have begmnidemtified @sihExams Guide
professor of political science and economics at Takshshila, He was an economic, political and royal adviser and a think tank,

and can be credited to have given India its complex united empire.

Rraftifiaa s @t saergdes ug iz offa v =10 gl S 3z S

‘amTREIHR [draz d FeE srereeal o1 Ui § AT TRl HIR @ Aseiihiss 9D iz sahl giefier weear @ gFe gotm & feelt g
&t Il orRigeerar amrar a9 Jorbt Yol o AN e Fa ol 2 arraa i, Jedi6! faea ot Ierifas Rigidal @) geier o
Rwmarn grlis sk sftem serbl enverson vd IsHIRE 33 - 951 © Focst @ o sogui &

awrrl fed it firgnfoe o srae agamrmeht aixlers Ridraani A afiea o= §a &, uwog g @1 fafdne afdm 32ea a0 4 yrn: sviar w Rt
@Dl BRI BU 2ol @& ugiEr 9 d g ciefiors Brgial 3 nue! san oidl 8, Afteg snusl i, Meemeller ool e sl AUGl & AR Bid @&
fae e e 35l v ASIga S O 9IS A IE0S Wl i asgery ik S oo aensa sl o) weerdl ar Ao 3ssicn ol © was
3 3 v gENIE 9K ol Usdrd &I off 3z 371 yor fira ot ue weret Yy e, & ool Fgpl snedltar sussfla & raeiifers od
qoraicies i & BU I Ygag e

forfcsa 31 =nvresT &t #Areie siannd angd off angfore aftas oeshifa Jord Bigia mm, <m, <s, W (arger, o - taam/ I
forertzun, €3, WHEIR B 9IUUT) & 3N -URA PRl & Foldl o I, @l 33 Hld okp o Skl & slel %G bl Al siferiar bl ara sl 31 a3
HATGI SICH @ VTG bl AgidreT H eeifa fasne sz oy & smart & wa & son simeen @ ww arefonafl, TraRiione iz omerbia FoE®IR
aen g Riocs 81, Bred siva o1 v st whiaya A gorer o1 g R snowwrar 3

Chanakya identified the potential ruler from among which one of the following?

oy fpordl v e onaw ot asrer wI § :

[Question ID = 1648][Question Description = 52_qSNz_PG_LBW_Q100]
1. Politicians/ =ittt 2 [Option 1D = 6589]

2. Kings/arensii # [Option [D = 6590]

3. Teachers/faramef 3 [Option ID = 6591]

Carrect Answer :-
& Politicians/aGEifaE! 3 [Option ID = 6589]

Topic:- 05th_SET12 Shift 2_A

1 8
) The following table presents the percentage (%) distribution of students of UG and PG levels

n seven different colleges (A-G) in a city during the academic session 2020-21. There 1s a
total number of 52,000 students 1n all colleges including 27,300 students of UG level.
Based on the data 1n the table. answer the question .

College — wise percentage (%) of students at

Co]lege¢ Perentage (%) of students at

UG Level PG Level

A 17% 8%

B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

How many students of colleges A and F taken together are studying at UG level?
(1) 7516 (2) 8463
3 9127 (4) 9404

g aTfert U STER § WTd 33CTT- e HEaaierl (A-G) B 9fiER w3 2020-2021 9 A iR
bR R % foranfdat o faem-viase (%) wwg B 21 27,800 g@Eas Tl 6 S s it
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=lh Helld=etdl 3 Fol S0 Dl HEAT DA 000 % | THETFHRG diethl H Had ST21 = ATIR U

YT T I BT ;

Terfage™ ¢ S 6 gfamaar (%)
- | EEHT R/
=
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%
AT F wamiaerd % o1 Frad fereneft oF w1y @ -0 TR W ued @ 7
(1) 7516 (2) 8463
(3) 9127 (4) 9404

[Question ID = 2829][Question Description = Q1_GP_Set12_51]

1. 1

[Option ID = 11313]
Z. 2

[Option ID = 11314]
S

[Option ID = 11315]
4, 4

[Option ID = 11316]

Carrect Answer :-

s

[Option ID = 11313]

prepp

Your Personal Exams Guide

The following table presents the percentage (%) distribution of students of UG and PG levels

in seven different colleges (A-G) in a city during the academic session 2020-21. There is a

total number of 52,000 students i1n all colleges including 27,300 students of UG level.

Based on the data 1n the table. answer the question .

College — wise percentage (%) of students at

Cﬂﬂe€e¢ Perentage (%) of students at

UG Level PG Level

A 17% 8%

B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

Total number of students studying at PG level from the colleges B and C taken together 1s :

(1) 5601
(3) 6669

(2)
@)

b944
7004
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iR Ao T WX 4 W 3TerT-3Te HEtaaer (A-G) H fefirs m 2020-2021 9 ETES ST
T T = frEnfiEt @ famm-ufama (%) g w1 27,800 qEAGE W oEl B g
T HEIfoerd § T S H aE 52,000 2 | Fenfa afer # TeT ST % TR W '

973 H TR DI

Tefagrea ¢ ST i AfTTaaT (%)
TH-Eah | EEeT T
=L
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

B o C mefaenerl # Hashiek Wt W O 919 TeH arel farnE f pe ven 2

(1) 5601 (2) 5944
(3) 6669 (4 77004

[Question ID = 2830][Question Description = Q2_GP_Set12_51]
1. 1

[Option ID = 11317]
2. 2

[Option ID = 11318)]
£

[Option ID = 11319]
4, 4

[Option ID = 11320]
Correct Answer :-
* 1

[Option ID = 11317]

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) in a city during the academic session 2020-21. There 1s a
total number of 52,000 students i1n all colleges including 27,300 students of UG level.

Based on the data 1n the table. answer the question .

College — wise percentage (%) of students at

Cﬂﬂege¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%
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YWIIAT 15 LIite T0Tal Numper oI Utr ana rir level stuaents 1n e college L’ Your Personal Exams Guide
(1) 8320 @) 7916
(3 9116 (4 8372

=g aTfort T STEL § WTd 3IeT- Ao HETaaierl (A-G) | 9fER 7 2020-2021 9 EEES IR
HrahT WX+ et o faar-ufaee (%) e w21 27,800 gEEEs TRk o s wfmfaa
FTH TETeEerl & Fa S @6 52,000 2 | Feifea aferm § vea Swe1 % oTuR | ‘

YT T SR HIT,

Heifege ¢ STl ! Al (%)
qﬁmw TR TR
T
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

E e TTRhR TR 31 YEEah K 5 el (oo foranefi 27

(1) 8320 (2) 7916
(3) 9116 (4) 8372

[Question ID = 2831][Question Description = Q3_GP_5Set12_51]
1.1

[Option ID = 11321]
2. 2

[Option ID = 11322]
3.3

[Option 1D = 11323]
4, 4

[Option ID = 11324]
Correct Answer :-
e« 1

[Option ID = 11321]

4 ; S B %
) The following table presents the percentage (%) distribution of students of UG and PG levels

in seven different colleges (A-G) in a city during the academic session 2020-21. There 1s a
total number of 52,000 students 1n all colleges including 27,300 students of UG level.
Based on the data 1n the table. answer the question .

College — wise percentage (%) of students at

Co]lege¢ Perentage (%) of students at

UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
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What 1s the ratio between the number of students studying at PG and UG level respectively

AN T g Pl

K

14% 21%

G

15% 17%

from the college F?
(1) 14: 19
(3) 17:21

FifRa e U STet § T AP - 3Ter Hetaarer (A-G) § AafiER 79 2020-2021 | qEEAas iR
bR R % foranfdat o faem-viase (%) wwg B 21 27,800 g@Eas Tl 6 S s it
FCh HEETeE § A B i @A 52,000 2 | FeniEg ameen o 98T S % SR W '

YA T IO BT

u?rﬁm¢ ST ! AT (%)

- | EEHT T
T
A 1'7% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

F "eiferare § Sasat T W g4 9Tl fenE 1 e R g4 S as W W T are feenfie

AT % Y W
1 14:19
(3) 17: 21

FH: AU 2 -

@)
4

@)
4

19: 21
19:14

19:21
19:14

[Question ID = 2832][Question Description = Q4_GP_Set12_51]

1

1

[Option ID = 11325]

Fi

[Option ID = 11326]

i

[Option ID = 11327]

4

[Option ID = 11328]

Correct Answer :-

1

[Option ID = 11325]

prepp
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The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) in a city during the academic session 2020-21. There 1s a

total number of 52,000 students 1n all colleges including 27,300 students of UG level.

Based on the data 1n the table. answer the question .

College — wise percentage (%) of students at

College ¢

Perentage (%) of students at

UG Level ‘ PG Level
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A 17% 897 Your Personal Exams Guide
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

What is the ratio between the number of students studying at PG level from the college F
and the number of students studying at UG level from the college D?

(1  13:19 2 21:13
(3 13:8 4 19:13

g aTfer U STER § WA 37ETT- e HEiaaerEl (A-G) | 9fiER 7 2020-2021 9 A iR
s TR = Tt o faam-vfaea (%) wag w21 27,300 qeE0s W % Sl o wffad
FCh HEEeE § A B @A 52,000 2 | FETiEg ameen o 98T S % SR W '

YT T IO BT

TeTiage™ ¢ S H IfaT_aT (%)
WH-FaE | EEhT T
=il
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

F waiaemed § Sl T R T Il et i @ ot D wEiheed ¥ 9d-F e W W 0E

are ferenféat <Rt g % e %1 s 2
(1) 13:19 (2 21:13
(3) 13:8 (4) 19:13

[Question ID = 2833][Question Description = Q5_GP_5et12_51]
1. 1

[Option ID = 11329]
Lok

[Option ID = 11330]
3.3

[Option ID = 11331]
4. 4

[Option ID = 11332]
Correct Answer ;-
e 1

[Option ID = 11329]

| Topic:- 05th_SET12 Shift 2_B

1 Which of these 1s not related to podcasting?
(1) Audio (2) Spotify
(3) Microphone (4) Microsoff excel
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o 3 & 9 SreiT & deE 8 27 Your Personal Exams Guide
(1)  rifsa Q) TS
(3)  TEHHH (@) TEFETE EEw

[Question ID = 2834][Question Description = Q06_GP_Set12_51]
1. 1

[Option ID = 11333]
7.2

[Option ID = 11334]
3. 3

[Option ID = 11335]
4, 4

[Option ID = 11336]

Carrect Answer :-
s 1

[Option ID = 11333]
Identify the examples of Active learning :
(A)  Students discuss, debate or brainstorm during class
(B) Students work as team on problems and projects
(C)  Students engage 1n inquiry based learming
(D) Students are exposed to case-based studies.

Choose the most appropriate answer from the options given helow :

(1) (A only (2) (A). B) and (D) only
3 (A, (C)and (D) only (4 (A and (D) only

TRATHieT TP % Femeton i Year Hiee

(A = % e faemff ==, fome sromn s =@ 2

B el aremet 3 TEsEeT W T AW ¥ Y A B 0 S |
(€)  Terneft = swenfia siferm 3 gora wie # |

D) Frndt Fm onaia S19FR T 9T B9 5

e fom o Tl | o W SuEEd SR R wEA i

1) FEE (A (2) FFA (A), (B) 2R (D)
(8  FFE (A), (C) ¥t (D) (4) = (A) IR (D)

[Question ID = 2835][Question Description = Q07_GP_Set12_51]
1. 1

[Option ID = 11337]
2. 2

[Option ID = 11338]
3.3

[Option ID = 11339]
4, 4

[Option ID = 11340]
Correct Answer :-
a 1

[Option ID = 11337]

3) ; i ; ; e%
According to the stages of cognitive development suggested by Piaget. the earliest period 1s
called as :

(1) Formal operational (2) Exstential

(3) Sensori motor (4) Verbalizer
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TSl S0 YT T WA (SRS o6 SROT % STIHT TR e il Eferiad Heal w1l B:
(1)  =iu=nics abFTeTs 2 wfaa s
(8) TG TR @) Ty ofEdas (FeemsR)

[Question ID = 2836][Question Description = Q08_GP_Set12_51]

1.

1

[Option ID = 11341]

Sl

[Option ID = 11342]

b

[Option ID = 11343]

4

[Option ID = 11344]

Carrect Answer :-

s 1

[Option ID = 11341]

Given below are two statements :

Statement I: A blended course is a traditional course of instruction incorporated with
online materials and / or intermittent online discussion.

Statement IT : A wiki 1s not a representation of a collaborative tool and website where users
assigned 1n groups can create content collaboratively and where a teacher
can monitor their work.

In the hight of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect

4 Statement I is incorrect but Statement II is correct

g sy feu o B

w0 ([): TF Mg ggEwy v ol IeE yeEmn § T etHertsd @t st/ sver afwm

AAATE ==t afsted o T 2 |

#oF ([II): forfl U8 wgil Sumor 7 amEige @ yioed T8 2 Wel e 8 e v geen € faw

I ST Tohd & 311 FEl AP Sk R whl FRTOHT o deRd 2 |

SR B9 F e J, 9 v o feredt 4 ¥ veE S S H o il

(1)
(2)
(3)
4

oA I3 IL2H w31 & |
Fed I 30K IL2H1 Tod 2 |
w9 1 98 2, Sfa #9F 1L 7ed 2 |

w9 1 7erd 2 fog 9w I 2 2|

[Question ID = 2837][Question Description = Q09_GP_Set12_51]

1.

1

[Option ID = 11345]

2

[Option ID = 11346]

i

[Option ID = 11347]

4

[Option ID = 11348]

Carrect Answer :-



WWW.prepp.in .repp

e Your Personal Exams Guide
[Option ID = 11345]

Modeling 1s a direct teaching activity that allows students to 1mitate from demonstration or
infer from observation, the behaviour to be learned. Identify the correct sequence for

modehng.

(A) Production
(B) Attention
(C) Motivation

(D) Retention

Choose the correct answer from the options given below :

1) @), B).©C.D @ B, D). W), O
3  ©.W. D). 6 @ (B). @A), ©). D)

iy ek Ut Yo e iatate # e fammedi e S O s5asr B YT ° e S19et ugur O
SHHT STAT TR0 T 2 | TawTol 30 T= 3THA = TEar i

(A)  Iom
B ==
©
D)  widur

Fie fau o faepeat § o @E SO w0 A hifs

1 A &), ©). D) @) @, D), A). ©)
@ (O, ). D), B @ (B). A, ). D)
[Question ID = 2838][Question Description = Q10_GP_Set12_51]
1. 1

[Option ID = 11349]
2. 2

[Option ID = 11350]
3.3

[Option ID = 11351]
4. 4

[Option ID = 11352]
Correct Answer -
a 1

[Option ID = 11349]

6) 3 , : _ y , ;
A prediction regarding ‘relationships involving theoretical constructs” 15 known as :
(D Directional hypothesis (2) Relational hypothesis
3) Conceptual hypothesis (4) Operational hypothesis

‘Ugifesn Ffifa ot geal’ = qaiaue =+ f= =9 9 5 o 3
()  TEmRE e Q) TEURE T

(3)  TFCUITH TEEEH (4) e TR

[Question ID = 2839][Question Description = Q11_GP_Set12_51]
11
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[Option ID = 11353]
2. 2

[Option ID = 11354]
3.3

[Option ID = 11355]
4. 4

[Option ID = 11356]
Correct Answer ;-
« 1

[Option ID = 11353]

7)
A variable not described by a predictor 1s called :
(1) Exogenous variable (2) Non-Predictive variable
(3) Effect variable (4) Manipulative variable

IR g At TE] R Y =k W fetefad e S @

(1) afzal = @) R e =
(3) A= (4 TEIF W
[Question ID = 2840][Question Description = Q12_GP_Set12_51]
11
[Option ID = 11357]
x

[Option ID = 11358]
3 3

[Option ID = 11359]
4. 4

[Option ID = 11360]

Correct Answer :-

LI

[Option ID = 11357]

) The ethical considerations in research include :
(A) Free copying from books and journals
(B) Informed consent
(C)  Avoiding plagiarism
(D)  Proper referencing
(E)  Privacy as an insignificant issue
Choose the correct answer from the options given below :
1 A, B). (C) only 2 @B).(C). D)only
3  (C), (D). (E) only @ @A), D), (E) only
Ty | s UK | e mide 2 -

(A) Y&l F R ¥ gell AP

B)  gie wEAk
(C) wrfafems 9/ & s=m
D) 3fua gevlE

(B) - ¥ 5=d qqg

prepp

Your Personal Exams Guide
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AT 1GE AT, Tdhedl 3 8 Hel STl =l 9491 iaq | Your Personal Exams Guide
(1) Fad (A), B). (O) ) F99 B), (C), D)
(8  Fad (0), (D). (B) @) FFa (A). D). E)

[Question ID = 2841][Question Description = Q13_GP_Set12_51]
1. 1

[Option ID = 11361]
52

[Option ID = 11362]
3, 3

[Option ID = 11363]
4. 4

[Option ID = 11364]

Correct Answer :-

L

[Option ID = 11361]

Given below are two statements :

Statement I: Reflexivity refers to the manner in which speech and action are part of the

social world in which they are situated.

Statement IT: The term ‘reflexivity’ 1s a shippery concept because of ‘For and against’

arguments, and also because of different meanings.

In the light of the above statements, cheoose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement Il 1s false

(4) Statement I is false but Statement IT 1s true

o (I): Sfarossa (rafFafad) = gwa su {fa @ 2 Fet ars 7 e so amfss giar < am
2 fored = amfer 3

w0 () : ‘Iafpacoasar ©F Thder 90 T%ouT ¢ 9Eith 3@ 94 9 U I oI F o 3 MK
firm-firm o off 4

IUUIh e % ATel H, e f3u e famedt d O wel s @ = iy

() oA I 2 oo 2 |

) =R IR I 2 o/ 2 |

(8) =M Iuea 2, wifs =om 11 s1des 2|

4 =FFlowEs: AR IIaEsl

[Question ID = 2842][Question Description = Q14_GP_Set12_%1]
| 1.1
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[Option ID = 11365] Your Personal Exams Guide
2.2

[Option ID = 11366]
T

[Option ID = 11367]
4, 4

[Option ID = 11368]

Carrect Answer :-

s

[Option ID = 11365]

19 Natol List T with Tist11

List I List IT
Statistical test Application

(A) Chi— square (I) Is used to determine the significance
between group means.

B) t-—test (II) A procedure to decompose wvariation
into two or more independent
variables,

(C) ANOVA (II) Analyses the relationship between two

or more independent variables and a
single dependent variable.

(D) Multiple regression (IV) Produces a value that reflects the
relationship between expected and
observed frequencies.

Choose the correct answer from the options given below :

@O  @-O. B-AD). (O-d1D, D)-IV)
2 A)-AD. B)-aID. (C)-AV), (D)-1)
(3  @A)-IIDh, B)-AV). (C)-(M). (D)-AI)
@  A-IV), B)-O), (O-ID), (D)-II)

g=-1 =1 g-11 © gofaa Hifae
g1 -1
wifeashE e T
(A) =72 ¥hat (Chi — square) @ zEH w= TE HIEl h UEH % HEcd
Rt % foe fran smar 2|
B) ti= A fafaga =0 2 @ wfes wE =0 3 feka
w0 = ufE
(C) TAET (ANOVA) AID 3 T s T =90 St T AW W %
i F weY T REew Fd 2
D) =g vl (AV) T 7od i St el 2 A eia a aiE
IRl % 9 W il 2
4 f ™ fEeat 9 wd ST i

(1) A)-(D. B)-AD, (C)-dIL). (D)-(IV)

(2) (A)-D, (B)-AID, (O)-@V), (D)-(D)

(3) (A)-(ID). (B)-AV), (C)-(D). (D)-(1L)

(4) (A)-aAV), (B)-@), (C)-aD), (D)-(ITL)
[Question ID = 2843][Question Description = Q15_GP_Set12_51]
1. 1

[Option ID = 11369]
2. 2

[Option ID = 11370]
Fiid

[Option ID = 11371]
4.4
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[Option ID = 11372] Your Personal Exams Guide

Carrect Answer :-
* 1

[Option ID = 11369]

‘Do not expect to have evervthing buttoned up in your mind before hand’. This 1s very much
frue in the context of :

(1) Article writing (2) Delivery of speech
(3) Conducting on interview (4) Supplying background information

‘TEdt ® # ot fmm ® wedt <fi % sttt w9 1 owen ma @i |

7z oy a1 foera wdi 27
() e sEA (2) |97 &
(8)  HER T 4) gByHE g Uy FOA

[Question ID = 2844][Question Description = Q16_GP_Set12_51]
J

[Option ID = 11373]
2. 2

[Option 1D = 11374]
3.3

[Option ID = 11375]
4, 4

[Option ID = 11376]
Correct Answer :-
a1

[Option ID = 11373]

A persuasion plan of an educational communicator involves :
(A) Sequencing of 1deas

(B) Repeated emphasis

(C) Choice of words

(D) Reference line

(E)  Personalisafion of issues

Choose the correct answer from the options given below :

1 (A). (), (D) only @) (A). B), (C) only
3 (B, (©). (D) only @ (©). D). (E) only

U ReAOTF TR i T AT 5 Qe ©
Q) TrEd e

B gHEgdE ad

(©) =l = T

D) @

(E) wocmsti % dataaso

49 fim  fepeal § ¥ w4 ST @ = i

(1) ad (A), (C) 3K (D) (2) FaE (A), (B) 3R (C)
(3) %A@ (B), (C) 3t (D) @ FFa (C), (D) 3N (B)
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[Question ID = 2845][Question Description = Q17_GP_Set12_51]

1.1

[Option ID = 11377]
2. 2

[Option ID = 11378]
3.3

[Option ID = 11379]
4, 4
[Option ID = 11380]

Correct Answer ;-

e

[Option ID = 11377]

Given below are two statements :
Statement I: Frames can be a causal factor in decoding educational information.

Statement IT: The social background of the learners also influences their frames.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I 1s false but Statement IT is true
A 2 e few e 2
F (D): I YEen % FeraE ¥ FE () U IFIEI B o Wl & |

w0 (1D : Rreeff i aenfoes goyfy saht g () <1 o wafE w2

SRR FUT F ST |, 9 G e 1§ w sw w99 iR

(1) = IR I3 ae & |

(2  F9F I3 I3 579 & |

(8  wu 1T 2, AT B I 1 2 |
(4)  =wua I srEea 2, ot ae ILEes 2|

[Question ID = 2846][Question Description = Q18_GP_Set12_51]
1. 1

[Option ID = 11381]
3.2

[Option ID = 11382]
B3

[Option ID = 11383]
4, 4

[Option ID = 11384]
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e 1

[Option ID = 11381]

The sequence of steps in organizing written material for commumecation 1s :
(A) Read over

(B) Evaluate

(C)  Jot down points

(D)  Construct an outline

(E) Describe

Choose the correct answer from the options given below :
1) @A). B). (©). D). (E) @ (0. . B). D). E
@  (©). D). A, E). B 4 B). A, D). (E. O

TR 7g foafga amft = =g | 9w i gei 2
@) - (G @)

B) e
(C) oA forget = o
D) =9 @ =

(E) 994 =T

= 2y e fompeul 4 O wEt ST @ 9E i

1O @A, B, O, D). (E) 2 O, @), ®). D), E)
B  (©. D) A (E). B 4 (B). @), D). E). (C)

[Question ID = 2847][Question Description = Q19_GP_Set12_51]
|

[Option ID = 11385]
2, 2

[Option ID = 11386]
3.3

[Option ID = 11387]
4, 4

[Option ID = 11388]
Correct Answer :-
e« 1
[Option ID = 11385]

Match List T wath List IT ;

List I List 11
Models of communication Characteristic feature
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(A) Mathematical model (D Perce]_mng Your Personal Exams Guide
(B) Circular model (II) Global village concept

(C) Medium — centric model (III) Linear

(D) Selectivity model (IV) Decoder becomes encoder

Choose the correct answer from the options given below :

1) (A)-aD. B-AV). (O-O. O)-ALD)
@  (Q-aAV), ®-O. (O-aID. (D)-1D
@  @-O ®-1D, (O)-d), O)-IV)
@  (Q-@D. B)-aV). (O-aD. M@)-@

g1-1 % T -1 1 e Hifore
g1 gel-II
9N & faaE fema <o
(A) T wfoame @ AT AT
B) g wfwE AT fava-um g
(C) ¥ remm-Ff=a ufaam IID &
(D) FTEATAF ToEE (IV) FeFmiaT Feraes o S 2 |

Fr faw e Repedt § O Td) ST == i -

1)  A-Ah. B-IV), (O)-@. D)-dID

2  A-av), B-@. (O)-dlD). D)-dD

3  A-O. B)-AD. (CO)-dID, (D)-AV)

€Y (A)-(11D). (B)-(IV). (C)-AD), (D)-(D
[Question ID = 2848][Question Description = Q20_GP_Set12_51]
1.1

[Option ID = 11389]
2, 2

[Option ID = 11390]
3.3

[Option ID = 11391]
4, 4

[Option ID = 11392]
Correct Answer :-
e 1

[Option ID = 11389]

Six bells commence tolling together and toll at intervals of 2. 4, 6. 8, 10 and 12 seconds
respectively. In 30 minutes, how many times do they toll together?

1 4 @ 10
3 16 4y 20

F: AleAl Teel TH WY A I FA 8 T B 2, 4, 6, 8, 10 iR 12 TS F A W Ao | |
37T 30 fime d 9 v w1y ol e ==t 7
(1) 4 (2) 10
(3) 16 (4 20
[Question ID = 2849][Question Description = Q21_GP_Set12_51]
1. 1

[Option ID = 11393]
% 3

[Option ID = 11394]
3 3

[Option ID = 11395]
4. 4

[Option ID = 11396]
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s 1

[Option ID = 11393]

17)  Cost price of two mobilephones is same. One 1s sold at a profit of 30% and the other for
6300 more than the first. If the net profit i1s 40%. Find the cost price of each mobile.
(1) 42,500 (2) 50.000

(8) 25,500 @ 31500

g1 AT W FHEAYCT WA 2 | TH 0 30% S U S T SR g W TEe U 3. 6,300/- SR iEd W
T AT | IR BT A 40% 2 A TeUE HISISe i AT T 2 ¢

(1) 42.500/- 2  50.000/-
(3)  25.500/- (4) 31.500/-

[Question ID = 2850][Question Description = Q22_GP_Set12_51]
1. 1

[Option ID = 11397]
2. 2

[Option ID = 11398)]
e

[Option ID = 11399]
4. 4

[Option 1D = 11400]
Correct Answer :-

L

[Option ID = 11397]

Consider the following statements regarding clocks :
(A) When the hands are in opposite directions. they are 30 minute spaces apart.

(B) The hands are in same straight line when they are co incident or opposite to each
ather.

(C) If a clock indicates 8:45, when the correct time 1s 9:00. it 1s said to be 15 minutes too
fast.

Choose the correct statements from above :
(1) (A) and (C) only (2 (B)and (C) only

(3) (A and (B) only (4) (A). (B)and (O)

ufemt % way 1 Fetataa wyE W far fit -

(A) == gzat v gud © faudia fean A gt ¥, 9 30 fiee = seawe i g woaidt )

(B) & gl wh g Wil v O i E o v wn i # A1 o ga % fadia e 3

(C) TR %IE gl 8 : 45 o = AT Wit & 31 T W 9 : 00 =9 2 ot 77 15 e <= et =@

o FEET 2 |
T fau o faered o § wEl Iu S = i
1) FEE (A) 3R (C) 2 = (B) 3R (O)
(8) A (A) IR (B) @ (A, ® 3 (©)

[Question ID = 2851][Question Description = Q23_GP_Set12_51]
|
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[Option ID = 11401] Your Personal Exams Guide
.

[Option ID = 11402]
3.3

[Option ID = 11403]
4. 4

[Option ID = 11404]
Correct Answer ;-
« 1

[Option ID = 11401]

1 . ‘
) In how many vears will a sum of 800 at 10% per annum compounded sem1 annually become
926.107
(1) 5/2 years (2) 3/2 years
(3) 2/3 years (4) 4/3 vears

e =t o . 800/- i T 10% wfa =, srganiden =mpafy sars i e ¥ 5. 926.10 & swhi 7
1) 52w (2 32
(3) 3= @ 4379

[Question ID = 2852][Question Description = Q24_GP_Set12_51]
1. 1

[Option 1D = 11405]
2. 2

[Option ID = 11406]
3.3

[Option 1D = 11407]
4. 4

[Option ID = 11408]
Correct Answer -
a 1

[Option ID = 11405]

Given below are two statements :
Statement I: If a person covers a certain distance at x kmph and an equal distance at

4 kmph. Then, the average speed during the whole journey is (x?i} kmph.
Xy

Statement II: If the ratio of the speeds of X and y is a:b, then the ratio of the respective
time taken by them to cover the same distance is b:a.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II i1s false
(4) Statement I 1s false but Statement II is true

= 21w e o 2

FF ([): R TF =Ea TF Mfvad g4 x Bdfl /7 6 7l & g0 w2 o mam g i

R L T g g JAC v T ['t;y)ﬁﬁ.ﬁ‘mm’ﬁa‘a%|
XY

FA (D) : 3R x 30y $1 71 =1 390 a: b B, @ T9F g0 W a7 F ¥ 586 g e T wwm wi
A b:ad|
IR HYT T T H, A U e fawed A ¥ wEl I W 99 T

P ! -5 S T S
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(3)
4

prepp

A LHIL LL GIH Hcd g | Your Personal Exams Guide
FgT [ 3R IL2A1 219e9 & |

I [ 59 2, SFF $99 11 578 2|

FF 1 959eT 2, af %99 I 9 2

[Question ID = 2853][Question Description = Q25_GP_Set12_%1]

1.1

[Option ID = 11409]

2. 2

[Option ID = 11410)

diid

[Option ID = 11411]

4, 4

[Option ID = 11412]

Carrect Answer :-

s 1

[Option ID = 11409]

“Environmentalists accuse us of blocking the plan to convert Antartica into a World park. In
fact nothing could be further from the truth. Antartica is a huge continent teeming with hife.
It is home to millions of penguins, seals, seabirds and sea lions. Also great schools of finfish
and whales inhabit its coastal waters.”

Which fallacy is committed in the above argument?
(1) Red Herring (2) Strawman
(3) Hasty generalization (4) Shppery slope

TS, TH STt i {9va-sam § uiafaa we B A § U W W od 3| aned 3 399
AF A FT IR TAl o THAT | JVREBCH G T UG T 6ga wel Heey 2 | Fg Al Wi,
Hiewt, agdi-ufit st il = o 2| TR-usell 3 29 1 Uk 937 9eE sEe 92 wd e

Tl 2|

ITHFT AfFT T AT AT W 5O 27

Q1 = Q) wifF
(3) T A @) Taul @

[Question ID = 2854][Question Description = Q26_GP_Set12_51]

P |

[Option ID = 11413]

i

[Option ID = 11414]

30

[Option ID = 11415]

4, 4

[Option ID = 11416]

Carrect Answer :-

s

[Option ID = 11413]

22)

Consider the series “tiger, feline, mammal, animal’. Which of the following statement/s
1s/are true with reference to this series?

(A) It s in order of increasing intension

(B) It s in order of increasing extension
(C) It s in order of decreasing intension
(D) It is in order of decreasing extension

Choose the correct answer from the options given below :

(1)  (A)and (D) only (2) (B)only
(3  (B)and (C) only (49 (D)only
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Ly = e

Yo, faema, TR, T W gEe W RER A o amey 9 guen % wed § Feted | |
i BT T B 7

A =Tond v Eed FAA

(B)
(C T FaEFIAEL
D) =N % ued B A 2|

o~ "y ‘L'é
I H Fed A A T |

A

A

#= 2 v freeew 8 9 O I W 9 I

(1) =ad (A) AR (D) 2) = (B)
(3)  Haw (B) 3k (C) 4) === (D)

[Question ID = 2855][Question Description = Q27_GP_Set12_51]
1. 1

[Option ID = 11417)
2, 2

[Option ID = 11418]
3.3

[Option ID = 11419]
4. 4

[Option ID = 11420]
Correct Answer :-
1

[Option ID = 11417]

Given below are two statements :

Statement I: The example (udaharan) 1s a special feature of the Nyaya syllogism and it
illustrates the truth that the universal major premise is the result of a real
induction.

Statement II : Induction in Nyaya conception of inference is based on the law of causation
and induction and deduction cannot really be separated.

In the hight of the above statements, choose the correct answer from the opfions given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II 1s true

e gt o g e 2

Foq (I): —E-wd 6t rgga fmmar Semw R o a9y @ O i GieE Wy T § {6 e
T AR 999 aReaias JANEA 9 97 2 |

FeF (I1) : 2FAEH = 4= Faumen § . wE-FRe aig = e Wi 3 It e sl
Frem = o T ° orem TF e s v 2

I FIF H AAF §, d= e o fme 8 ¥ 798 3 = il

(1) w9 IR I3 5 2 |

(2) 9 IR 12 o9 2 |

(8)  ®UA 19 2, S w9 I 318 2

(4) w30 2, e e IO 2|

[Question ID = 2856][Question Description = Q28_GP_Set12_51]
1. 1

[Option ID = 11421]
2. 2

[Option ID = 11422]
3. 3

[Option ID = 11423]
4, 4

[Option ID = 11424]

Correct Answer :-
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[Option ID = 11421]

24)  Given below are two statements :
StatementI: An argument form that allows for a substitution instance having true
premises and a false conclusion is an invahd form.

Statement Il : Any arguments having true premises and a false conclusion 1s an invalhd
argument.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II is false
(4) Statement I 1s false but Statement II 1s true

e 1 e g e E

+uA (I): TF IfFa TET S UY TRAT B AT a1 51 e e snen gt 4 s e e
I A T 95 A4 T Z0|

wu (ID): UF Ife e T smur T 9 1w ey 21, o s1ay gin 3

IHIH FUE % A 4, 9 u o et 8§ wE SO w o e

(N #EIskIzaa

(2 A I3t I 3AT 315 2 |

(3)  wUF IO 2, b YT 11 38T 2 |

(@) w2, o wu Do 2

[Question ID = 2857][Question Description = Q29_GP_Set12_51]
1. 1

[Option ID = 11425]
3.7

[Option ID = 11426]
3.3

[Option ID = 11427]
4. 4

[Option ID = 11428]

Correct Answer :-

LI

[Option ID = 11425]

All animals with such and such features are either bisons or buffalos.
This animal has those features and it 1s not a bison. Therefore it 1s a buffalo.

According to Nyaya school this argument exemplifies which one of the following pramanas
(instrument of knowledge)?

(1) Upamana (Comparison) (2) Sabda (Verbal authority)

(3) Arthapatti (Postulation) (4) Anumana (inference)

-3 TI9eT & WY TR SR 31 91 TSt 3 91 969 |

T WHaK % WE o fagidd & @i 9% TEe 96 2 safee ug afee 2

I WITET % SR T8 6 gE gRI FEited § o fRm TmT (M S U)W omed 8 7
(1  zwm @ e
(3) 4 A

[Question ID = 2858][Question Description = Q30_GP_Set12_51]
1. 1

[Option ID = 11429]
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[Option ID = 11430]

3.3

[Option ID = 11431]

4, 4

[Option ID = 11432]

Correct Answer -

e

[Option ID = 11429]

26) The Campus Wide Network in a University includes a firewall. Which one of the following is
a firewall used for?
(1) Deleting data from a network
(2) Restricting access to a network
(3) Encrypting network data
(4) Collecting transactional data

u fgaforne § ofe-frga--eas 4 s afa aftifaq g § | Feafafas 3 2 fea % fom s afa

= fRaT Sar & 7

(1) U A2ash o 21 feetie % % fog

(2) B A2 dob UFHY qIiHd B b Y,
(8)  Heerh 221 Wl e i = fog
(4) RIS S Tk B % A

[Question ID = 2859][Question Description = Q31_GP_Set12_51]

1. 1

[Option ID = 11433]

i

[Option 1D = 11434]

L

[Option ID = 11435]

4, 4

[Option ID = 11436]

Carrect Answer :-

s

[Option ID = 11433]

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A): A bitmap file format ( BMP) 1s not suitable for graphics on a website.

Reason (R) : Bitmap graphics store information about every individual picture element

(pixel) making up an image, thereby giving quite large files.

In the light of the above statements. choose the correct answer from the options given below :

(1
(2)
(3

{4

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 1s true but (R) is false

fAY 1= falas bt (RY 12 tv1e
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T 31 o 3y Y 2 - O AR (Assertion A) % T4 | ffaa ? @ g Sus W9 (Reason R) %

'{ﬂ_\qfl
AT (A) o oy weet e (sfoem i) Semme W e % fore s T8 2 )
FRO (R) : forzry mftera T SisfageTe fueer ofeme (fiese) & o1 0 I Ohhm e 2

TF 33 5 50, TTEe o2 e 5 B |

ST Y % el °, A4 €T e fEekedl § # USy ST ST T O9e i

(1) (&) 3k R®) 2 7 § 3R R), (A) R w5 = 2

2 @ 3R ®)IF T T W@fF R), (A) T =T w6 b
3 QiR R TwITEH R

@ (A s=er 7d 2 @fF R) @ B

[Question ID = 2860][Question Description = Q32_GP_Set12_%1]
1. 1

[Option ID = 11437]
3.2

[Option ID = 11438]
X

[Option ID = 11439]
4, 4
[Option ID = 11440]

Carrect Answer :-

s 1

[Option ID = 11437)

Identify the correct order of the following computer storage devices in order of speed of data
retrieval from fastest to slowest.

(A) Hard Disk
(B) Main Memory
(C)y CD-ROM

Choose the correct answer from the options given below :

(1) (B). (O). (A) (2) (©C). A). B
B A ©). B (4) (B). (A), (C)
T o= § mew iy 3o fidgw fi afe F w4 Gefatan wie Gang (Fgm) F @6 w8 W
Wﬁa’rﬁq £
A IE e
B) = A

© HiE -
Hf= Bu 7o ferepedl 1 o wEt IR = 9= i ;

1 @®.©C.A 2 (©O.@A), ®
3 @A) 0O, ®B) @ B.A), 0

[Question ID = 2861][Question Description = Q33_GP_Set12_51]
1. 1

[Option ID = 11441]
2. 2

[Option ID = 11442)
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[Option ID = 11443]
4, 4

[Option ID = 11444]

Carrect Answer :-

* 1

[Option ID = 11441]

29 )
) (iven below are two statements :
Statement I: A copy of the email is sent to a Ce (Carbon copy) address and other recipients
can see that address.
Statement IT: A copy of the email 1s sent to a Bee (Blind carbon copy) address but other
reciplents cannot see that address.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
3 Statement I 1s true but Statement IT 1s false
(4) Statement I is false but Statement IT is true
EiE e e R Tk o
A (1) 1 UF -7 6 wfafar o S, (FEF FE) F s W S T ot Wiz se T w6 dg

T 7 |

FoA (D) : T A o wfaren oF L. (- FeE-H) % Td WSS i S [ de
3G I H A4l <9 T ¢ |

IUF FIF H e §, A9 fou T e ¥ ¥ TWE SO% 1 99 it

(1) =AIATIIH T2 |

(2) w1 3R IL3A1 379 2 |

(8) =¥ [ , wifepd w69 1T 31609 2|

(4 FWEIAL, AT FEITH 2|

[Question ID = 2862][Question Description = Q34_GP_Set12_51]
154

[Option ID = 11445]
3ol

[Option ID = 11446]
3, 3

[Option ID = 11447]
4. 4

[Option ID = 11448)]
Correct Answer :-
e

[Option ID = 11445]

30)  Which of the following file format contains exclusively the ASCII file format?

(A) PDF
® RTF
(©) JIPG
o) OG5V
(E) TXT

Choose the correct answer from the options given below :

(N {(A). (B)Y and (I onlv 2y (BYy. (DYand E onlv
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3) (A (C) and D only 4y (C), (D) and E only

frerferfiga © o 1 TEw S FewdE UuE L TR TS, BiEd B WA 27

(d) .ETE
B) II.UE,
© s
®») "W
E) duwmd.

= 53 ™ Geu O o F ST o9E FinT
(1) @ (A), (B) 1R (D) (2) ¥4 (B). (D) 2R (E)

(3  Faw (A), (O) 3 (D) (4) Fa= (0), (D) 3R (E)

[Question ID = 2863][Question Description = Q35_GP_Set12_51]
1. 1

[Option ID = 11449]
2.2

[Option ID = 11450]
3.3

[Option ID = 11451]
4. 4

[Option ID = 11452]
Correct Answer -
s 1

[Option ID = 11449]

Millennium Development Goal 8 — “To develop global partnership for development” has the
following targets :

(A) To address special needs of least developed countries.

(B) To halve by 2015 the proportion of population without sustainable access to safe
drinking water and basic sanitation.

(C)  To deal exhaustively with debt problem of developing nations.

(D) To provide access to affordable essential drugs in developing world in collaboration

with private sector.

(E)  To have significant improvement in the Lives of 100 mn slum dwellers.

Choose the correct answer from the options given below :

1) (A). (). D), (B) only 2 @), (C), (D) only
3 (C). (D). (E) only 4 (B)., (D), (E) only

Tl o we-8- Tam 3g afvas amsed frttm e & Fefafea @2 2 -
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(A)  THE T TR G =Y STEeAnhael 9 o | Your Personal Exams Guide
B) 2015 T, TF U4 WA AR T Tesal o UROE Tgd A1 SHAET % STua B A F

© fommefie < =i s B aaen % @y geg E W e e

@) it e % veam O el g < uE arE AevEs garsdl o 95 WEH BT |

® 100 fafeem gofi Frenfamt & siem A wedege gur @ |

H1= fau 7o fapedl 9 98 39 @ 9= Hifau
(1) FFF (A). (C). (D), (E) 2) FFd (A). (C), (D)
(8) == (C), (D). (E) 4) F=e (B). (D), (B)

[Question ID = 2864][Question Description = Q36_GP_Set12_51]
1. 1

[Option ID = 11453]
2. 2

[Option ID = 11454]
3 3

[Option ID = 11455]
4. 4

[Option ID = 11456]

Correct Answer :-

LI

[Option ID = 11453]

Ozone layer depletion 1s on account of :

(A)  Chlorinated hydrocarbons
(B)  Sulphur containing compounds
(C)  Carbon monoxide

(D)  Nitrogen containing fertilizers

Choose the correct answer from the options given below :

1 (A, (©). (D)only @ @).®, ©). D)
3 @A) 1), (C)only 4 (A). (D)only

FATA T 10 o R0 3

(A)  TEES TRSIHEA

®) TR I A

(C) F=[ AFFEs

D) A T A

= fow o fReredt 8 & wE 3R W == Hifyw

1) FEFALOIMD (@ (A, B) (C) TR D)
(3) HEE Q). B®IEC) (@ FF (A) I (D)
[Question ID = 2865][Question Description = Q37_GP_Set12_%1]

Tt

[Option ID = 11457]
2. 2

[Option ID = 11458]
| B3
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4. 4

[Option ID = 11460]

Carrect Answer :-

» 1
[Option ID = 11457]

33) High values of which of the following parameters indicate good-quality water?

(1) Dissolved oxygen (DO) (2) Chemical oxygen Demand (COD)
(3) Biochemical oxygen Demand (BOD) (4) Conductivity
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[Question ID = 2866][Question Description = Q38_GP_Set12_51]
1. 1

[Option ID = 11461]
2,

[Option ID = 11462]
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[Option ID = 11463]
4, 4

[Option ID = 11464]
Correct Answer -
s 1

[Option ID = 11461]

Arrange the following solar cell base materials 1n order of their Band gap energy :

(A)  Silicon (81)

B) Germanium (Ge)

(C) Gallium Arsenide (Ga As)
(D) Cadmium Sulphide (CdS)

Choose the correct answer from the options given below :

1 @=®=D=(C) 2 A=>=®=O=D)
3@ O=0=>W=>® @ DO=W=O=®

frfifiga arer e o9 weiEe (gR wilem snufeugs) #1395 9 iy el % anan W saaitdE

Hiferm
(A)  TafeTsE (Si)
(B) =HEFEH (Ge)

(C)  Aferm 3mdEs (Ga As)

(D) e aeFEs (CdS)

T fau 7 et 7 O @E S F 99 Fie
(1) A=B=D =) 2y Q=>B=>C)=D)
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[Question ID = 2867][Question Description = Q39_GP_Set12_51]
1. 1

[Option ID = 11465]
2.3

[Option ID = 11466]
LN

[Option ID = 11467]
4, 4

[Option ID = 11468]

33) The National water mission under climate Action plan of Government of India seeks to

1mprove water use efficiency by :
1)  10% 2 20%
3  30% @) 50%

WA TR b Fear] wE A5 Ard U9 o9 0eE, S T S w6 pIEGE
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Q  10% @) 20%

S 30% @ 50%

[Question ID = 2868][Question Description = Q40_GP_Set12_51]
1. 1

[Option ID = 11469]
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[Option ID = 11470]
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[Option ID = 11471]
4, 4

[Option ID = 11472]
Correct Answer :-
« 1

[Option 1D = 11469]

36
) Who 1s the Visitor of all the Central Universities?
(1) Education Minister of India (2) UGC chairman
(3) The President of India (4) The Chief Justice of India

wft ¥ Rreafraeml =1 areaa (Afe) =6 27
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[Question ID = 2869][Question Description = Q41_GP_Set12_51]
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[Option ID = 11473]

37) Gaven below are two statements :

Statement I: TUGC has been established by an act of Indian parliament to regulate the

guality of higher education.

Statement IT: The executive council of a Central University is empowered to decide the

minimum qualification for the recruaitment of the faculty.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1 Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II is correct
H g wym fag o E -
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Correct Answer -

1

[Option ID = 11477]

Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A): The Central Government of our country is trying to increase access to
higher education.

Reason (R) : The public-funded universities and colleges can accommodate only a
himited number of students.

In the light of the above statements, choose the most appropriate answer from the options
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(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) is correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

H= 31 FoF fGm T 3 o ANFUE (Assertion A) % w9 ¥ fofaa 2 91 g0 U FRW (Reason R) %

gqﬁ
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1. 1

[Option ID = 11481)
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3.3
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[Option ID = 11484]

Correct Answer ;-
1

[Option ID = 11481]

Given below are two statements :

Statement I: As per the preamable to the constitution, India is a secular country.

Statement II : Setting up educational institutions by religious minority communities 1s

against the constitution.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II 1s incorrect

(4) Statement I is incorrect but Statement II is correct
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[Question ID = 2872][Question Description = Q44_GP_Set12_51]
1, 1

[Option ID = 11485]
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4, 4

[Option ID = 11488]

Carrect Answer :-
s 1

[Option ID = 11485]

Match List I with List II
List I List IT
(A) UGC (I Medicine
(B) AICTE (II) Teacher Education
(C) NCTE (III) General Education
@) MCI (IV) Technical Education

Choose the correct answer from the options given below :

1) @-AD. (B)-IID, (-, O)-AV)
@  A)-O, B)-ID, (O)-AV), (D)-(IID
3 @I, B-AV), (O)-AD). O)-@
49 @IV, B)-0. (O-dD, (D)-dD

gfi.1 % = gE-T1 = firems fifs

g1 gat-1I
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1)  A-aD, B-dAID. (O-@), D)-IV)
@  @-D, B)-1I), (C)-aV). (D)-(1I)
(3  (@)-D), B)-AV), (C)-(1). (D)-@)
@  @-av), B)-0. (O-aiD. (D)-ID
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1. 1

[Option ID = 11489]
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3. 3

[Option ID = 11491]
4, 4
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Carrect Answer :-
* 1

[Option ID = 11489]

Topic:- 05th_SET12 Shift 2_C

b Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged, when teachers. people in
authority or even the general public come in contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination fo know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse faillure 1n a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image shide starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember everyvthing they hear and evervbody they meet.
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great prece of hiterature. Second, the person who cannot remember is infinitely better off
than the one who can’t forget. These two thoughts are temporarily comforting, but do not
hang your hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave it untrained is
up to vou. One more cause of a self image is an unrealistic and unfair comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

Poor self — images are the products of :
(1) Group belongingness (2) Contracted inferiority feelings

3) Soecial power equations (4) Attitudes of teachers

frerfafiga ST i Uiy oK e 97| yyq =1 35 $im



WWW.prepp.in

pean wER % ofewa oe-fra w1 Fmiv a frarw g 2 oww fie, oeed @ @ @
FHA-GHT H glurafia gee + A 38 qlth § Gerh A 2 S S EiAdT =hl Wi SoT Bl 2 | 98
T Few 8 R faera 7@ ¢ T e sfewg aron da-wem i otk @ S ) anfeem eren-ferm
1 GHT HRY] Teh URAH ¥ 31EEA &4 Bl UH AleH § @B g4 % WA g 21 i vah 3| o s
1 formmera o ve Awm W TS B 2 A7 92 3 Al 9 TRdT 2, U STt TRl W e H SEE
B % W UEEEA h TTerdl TRl 2 | T 3igE =0 § arar-Tadn a1 et % g e SR qHEsierd Sidl £l U
AR & AT ScA-Torw 1 T (RS WRE B 3 91 W ias Wi sE-wEA g o 8 e
2| 9gd © S U §l R 2 W | 36 @9 5@ A ged 8 s T a fued €, @ o1 e | siem
=4 21 7z frvm = owfnfim wfe % Fwo F ot S s 21 seft % o @ il o few E, S s
SE GFA A At 2 | Ugen O Sy wfd ok wee gfg B ot sa f weha i 2 e A oo
I74, TerH o IR T WG 7, UF oT59 WE i I Fha Hdl 21 qH0 UH GG S A1 Tal
Thal B 30 &9 d 369 Sgal R 9 ge A6l g | 3 21 foem afie w1 @ gea 9 ae § o o 5w
9T W TP WG AE0 | oree erest Wia W g0 i am A wE < @ 2 2 ) 7 oA wfidem
sty 2t 31 o1 o8 wiifm = @ sl @ € sme g aa W Ak e 31 sten-few
UH SR HRU ST S STaata® Ud ST 9o 2 | B9 a0 % Theaigul STl i Sei- e sard
2 3 1l geberar =p1 fi=n femTd 21 AT B AEET U B SA-2A1 T8 ¢

31T aTee-ferm T IAET 2 |
(1) = ° =g (2) wPplaa TH-uE
(3 wEE-mFa-aE @) T S b

[Question ID = 2874][Question Description = Q46_GP_Set12_51]

1.

i
[Option ID = 11493]

Sl

[Option ID = 11494]

i

[Option ID = 11495]
4

[Option ID = 11496]

Carrect Answer :-

* 1

[Option ID = 11493]

prepp

Your Personal Exams Guide

Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged., when teachers. people

in

authority or even the general public come in contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination fo know that the stercotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse fallure 1n a project with a
failure in Life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image shide starts, the natural
tendency is to feed the inferiority feehing. Many people do this when they castigate
themselves because they can't remember evervthing they hear and evervbody they meet.
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great prece of literature. Second, the person who cannot remember is infinitely better off
than the one who can’t forget. These two thoughts are temporarily comforting, but do not
hang your hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave it untrained is

up to vou. One more cause of a self-image is an unrealistic and unfair comparison

of

experiences. We exaggerate others’ successful experience and downgrade our own success.

Experience has nothing to do with ability.
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What is the normal reaction of the people to failures?

(1) Ignore the failures
(2) Sympathising with the shide
(3) Projecting a single failure as failure in hfe

(4) Soclal ostracisation against failures

frerfaftaa 1o i g o SER 9T yya &1 3w $itm

e TER % oIfema oma-frm w1 Fmi @ framw w2 9w T, o @m @ wme
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Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged, when teachers, people in
authority or even the general public come in contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse failure 1n a project with a
failure in hife. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced

smmasner +ianan her fanshaws anA fan mauvarmta Caa 2ha scaes calf irmaama alida adkanta +ha natiiual
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tendency 1s to feed the inferiority feeling. Many people do this when they castlgagé)ur Personal Exams Guide

themselves because they can't remember everything they hear and everybody they meet,
which brings us to the cause of an untrained memory. For the moment. there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words 1n it, represents a
great piece of literature. Second. the person who cannot remember is infinitely better off
than the one who can’t forget. These two thoughts are temporarily comforting, but do not
hang your hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It 1s either trained or untrained. The choice of whether you train it or leave it untrained i1s
up to yvou. One more cause of a self-image 1s an unrealistic and unfar comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

When people start castigating themselves, they :

(1) Self — feed the inferiority feeling (2) Tryto amehorate the suffering
(3)  Lose the power of reasoning (4) Make efforts to improve their images
frerfafiga sTaarr i ufey oI e A9 yvq =1 3R $im
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[Question ID = 2876][Question Description = Q48_GP_Set12_51]
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2. 2
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3.3

[Option ID = 11503]
4, 4

[Optmn iD= 11504]

Correct Answer :
s 1
[Option 1D = 11501)

Read the following passage and answer question,
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the society in a manner that produces inferiority feeling in them. It does not take much
imagination fo know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse faillure 1in a project with a
failure in Life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image slide starts, the natural
tendency is to feed the inferiority feehing. Many people do this when they castigate
themselves because they can't remember everyvthing they hear and evervbody they meet.
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great prece of hiterature. Second, the person who cannot remember is infinitely better off
than the one who can’t forget. These two thoughts are temporarily comforting, but do not
hang your hat on them. Actually there 1s no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave 1t untrained is
up to vou. One more cause of a self image is an unrealistic and unfair comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

A ‘great mind’ indicates :

(1) Perfect memory

(2) Success in life

(3) The people he/she meets

(4) Trained or untrained mind

fFrferfiaa sTaawor 1 ufeu oK SR SNaTia U9 &0 598 i
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[Option ID = 11505]
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4. 4
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Correct Answer :-

L

[Option ID = 11505]

Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged, when teachers. people in
authority or even the general public come in contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination fo know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image 1s the tendency to confuse faillure 1in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image shide starts, the natural
tendency i1s to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember evervthing they hear and evervbody they meet.
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great prece of literature. Second, the person who cannot remember is infinitely better off
than the one who can’t forget. These two thoughts are temporarily comforting, but do not
hang your hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether you train it or leave 1t untrained is
up to vou. One more cause of a self-image is an unrealistic and unfair comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

The passage seeks to focus on the importance of :

(1) Good memory
(2) Untrained mind
(3) Factors determining 1umage self

(4) Experience against abality
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